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Subject : GE_Q01-Q10_PGTHIS
Question ID:- 181

Rearrange the parts in correct order to make a meaningful sentence.
(a) entering a house,
b) saw a burglar

)  when the policeman

d) he ran and caught him

(1) (a) (b) (c) (d)
(20 (b) (9) (d) (a)
(3) (9 (D) () (d
(4 (d) (@) (b) ()
Options:-

.1, Option ID :- 721,
« 2, Option ID :- 722,
. 3, Option ID :- 723,

« 4, Option ID :- 724,
Answer Given:- 3, Option ID : -723

Question ID:- 182

Change the following sentence from Active Voice to Passive Voice.
Why did your friend write such a nasty letter to you ?

(1) Why such a nasty letter was written to you by your friend ?

(]

Why is a nasty letter written to you by your friend ?

(2)
(3) Why a nasty letter to you was written by your friend ?
(4)

s

Why was such a nasty letter written to you by your friend ?

Options:-

.1, Option ID :- 725,
« 2, Option ID :- 726,
. 3, Option ID :- 727,

. 4, Option ID :- 728,
Answer Given:- 4, Option ID : -728

Question ID:- 183
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Fill in the blank with the correct preposition.

The wheel came the vehicle when it was negotiating a dangerous curve.
(1) out

(2) of

(3) off

(4) from

Options:-

.1, Option ID :- 729,
« 2, Option ID :- 730,
. 3, Option ID :- 731,

« 4, Option ID :- 732,
Answer Given:- 3, Option ID : -731

Question ID:- 184

Choose the correct tense form from the given options.

I had finished my exercise when my friend came to see me.
(1) Past Indefinite

(2) Past Continuous

(3) Past Perfect

(4) Past Perfect continuous

Options:-

.1, Option ID :- 733,
« 2, Option ID :- 734,
. 3, Option ID :- 735,

« 4, Option ID :- 736,
Answer Given:- 1, Option ID : -733

Question ID:- 185

Change the following sentence from Direct Speech into Indirect Speech.
“I always take a cup of green tea in the morning,” my father said to his friends.

(1) He always took a cup of green tea in the morning my father told his friends.
(2) My father told his friends that he always took a cup of green tea in the morning.
(3) My father told his friends that he had always taken a cup of green tea in the morning.
(4) My father told his friends that he has always been taking a cup of green tea.
Options:-

.1, Option ID :- 737,
« 2, Option ID :- 738,
« 3, Option ID :- 739,

« 4, Option ID :- 740,
Answer Given:- 2, Option ID : -738

Question ID:- 186
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Identify the part which has an error in it.

She discovered / to her horror / that she swallowed a fly / while drinking tea.

(1) (2) (3) (4)

Options:-

.1, Option ID :- 741,
« 2, Option ID :- 742,
« 3, Option ID :- 743,

« 4, Option ID :- 744,
Answer Given:- 1, Option ID : -741

Question ID:- 187

Ident-ify the word nearest in meaning to the given word.

DERISIVE

(1) quarrelsome
(2) disdainful
(3) abusive

(4) decent

Options:-

.1, Option ID :- 745,
« 2, Option ID :- 746,
. 3, Option ID :- 747,

« 4, Option ID :- 748,
Answer Given:- 4, Option ID : -748

Question ID:- 188

Identify the word opposite in meaning to the given word.
MITIGATE

(1) float

(2) increase
(3) reduce
(4) expand
Options:-

.1, Option ID :- 749,
« 2, Option ID :- 750,
. 3, Option ID :- 751,

. 4, Option ID :- 752,
Answer Given:- 4, Option ID : -752

Question ID:- 189
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Identify the Part of Speech of the underlined expression.

Students should not while away their time in frivolous activities.

(1) Adverb

(2) Verb

(3) Conjunction
(4) Pronoun
Options:-

.1, Option ID :- 753,
« 2, Option ID :- 754,
. 3, Option ID :- 755,

« 4, Option ID :- 756,
Answer Given:- 2, Option ID : -754

Question ID:- 190

Hurrah We have won.
What punctuation mark should be used after ‘Hurrah’ ?

(1) Colon

(2) Mark of interrogation
(3) Mark of exclamation
(4) Semi-colon

Options:-

.1, Option ID :- 757,
« 2, Option ID :- 758,
« 3, Option ID :- 759,

« 4, Option ID :- 760,
Answer Given:- 3, Option ID : -759

Subject : GH_Q11-Q20_PGTHIS

Question ID:- 191

Frafafes e i smyds Tge SW e 9 #1 T S e

=R 73§ fomre 1 fad vee € | fomr SueR-13 1 8T %1 U TgE w9 @1 § @ Wy g o
S SIS i G A & | SUSHTR e 379 TSR ot Tl o forg, efory $1q9 asie & 3%y
Teeelt =T % T STEvae S & R 1 ey S ¥ | foare Ara s-ay F Sugad welt i aen
1w faame § | St A SeErdt i S 3 i Sy qe uge o famm @ wewa faerdt ¥

SRISPTR ae 379 ASHIR % qere o fore = o € 2
(1) TSTIR e S € |

(2) HTHM SHH o FFRR A B |

(3) TG THER TEd § |

(4) HAER-A % o= ged §

Options:-
.1, Option ID :- 761,
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« 2, Option ID :- 762,
. 3, Option ID :- 763,

. 4, Option ID :- 764,
Answer Given:- 4, Option ID : -764

Question ID:- 192

Frafafad T 1 samydE Tget SR ARG 9T F1 el S e

=R 73§ famr =1 fade gee € | faars Iurem-u3 Y 3T 1 Uk TS E O § € Wy & o
11 STEgaRaIstl 1 off X 3 B | SSTTR Fash 79 ISR ot e o forg, efort s a9 % ey
el = % AU STEvae Sl & a1 ey S ¥ | faare 4ra s-ay F Sugad @it & aan
1 W faame € | SRt A SeErdt Y S 3 i SusiEd q uge # famm @ wewa faerdt ¥

fommo freferfaa & & fraet stevasmarei %1 U & wid € 2
(1) SRISFTR gore

(2) Tfew

(3) Toamw Ama gas-gafadi
(4) ETRE AfeRIE]
Options:-

.1, Option ID :- 765,

« 2, Option ID :- 766,

. 3, Option ID :- 767,

« 4, Option ID :- 768,
Answer Given:- 4, Option ID : -768

Question ID:- 193

Frafafas mie i samydes Tget ST TG 9 w1 et S Sy

=R 73 4 fomre =1 fad e €| fomre Su=R-13 1 37 %1 0% TgE €[ 91 © @ Wy g o
ST STavIshdre] sl Y A © | SRSITR Faeh ST USFIR i qaret o o, Tefomy o197 Jeie & o7&y
Teeelt I % U STeEvIe ST o fasrasi o1 @1y Sl ¢ | f9ae Ara sR-ay % Sugad |ieh i aem
1 W fawma € | ST 21 SaErt Y S SIS I ST qe Tgar | fawe ¥ wewEa faerd g

frefafea § %0 W -9 99§
(1) TSR ~ SR

(2) oTEYIEH - FAEIR

(3) SHEH - STIH

(4) HEEd - "]

Options:-

.1, Option ID :- 769,
« 2, Option ID :- 770,
. 3, Option ID :- 771,

. 4, Option ID :- 772,
Answer Given:- 4, Option ID : -772
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Question ID:- 194

Trefeafiad Terie 1 saAEs Tga I HIRd e 1 el I S

TR W To=re o ferd weee & | Toaros WHr=-u &1 37 1 Ush Y9 Hid o & & W € o
= SAravIsRare 1 off qU H ¥ | ISR gak 319 USPIR i qerl & forg, il s9d ase # oEy
TeEell FAM & T eTavaes IUHN  famaHi =1 ey 323wt € | faam 9 s-ay & SugF [l i Jem
%1 areay fammes € | A a1 e #1 S79H 3e91E %1 SusiE qe Yo 4 famred § werma faed €

TR 2197 S92 % SEY AEYTF SUR & oA Fii SEdt € 2
(1) ®R 1 SArEedHdl & feaq

(2) TRl TEH F fag

(3) Te=H =1 &M FH % fag

(4) H= T W HEE wiEd & fag
Options:-

.1, Option ID :- 773,

« 2, Option ID :- 774,

« 3, Option ID :- 775,

« 4, Option ID :- 776,
Answer Given:- 2, Option ID : -774

Question ID:- 195

FrfafEs Teiw 1 SAAds e SN SHIRG W &1 Hel 3 S

=R 93§ fomrem 1 fas vea € | fagme 9ueR-13 &1 81 1 U IgE i @ € @ ey € o
317 STavFRaIst sl o G I T | ISR Fash 279 ST ot Tl = fory, Tforr s1q aie & &y
Tewelt JeA % T STEvas SUH & ARl 1 ey I3 € | fqane 9r a-ay & Sugad Tl i aam
=1 9 faama € | =t 1 SHeErdt w1 S 3 i Sy g uge o fame @ wema faerdt ¥

Tefirdl fre e % famreA! e Sen € 2
(1) T T Hae

(2) HEYHF IUH HaEl
(3) Ve AR HaH

(4) a-HaEH

Options:-

.1, Option ID :- 777,

« 2, Option ID :- 778,

. 3, Option ID :- 779,

« 4, Option ID :- 780,
Answer Given:- 2, Option ID : -778

Question ID:- 196
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Frafafes § s €

(1) <&@ 9 - oA

(2) WM ATl SFE - TaeA

(3) fo=m #rg - S=fts

(4) b = feaq A aen - w4 fGaw

2

Options:-

.1, Option ID :- 781,
« 2, Option ID :- 782,
. 3, Option ID :- 783,

« 4, Option ID :- 784,
Answer Given:- 4, Option ID : -784

Question ID:- 197
Trefafen o faaf wfy amen = T8 &
(1) ZETEm
(2) =fedE
(3) e
(4)

- .

HAREM
Options:-

.1, Option ID :- 785,
« 2, Option ID :- 786,
. 3, Option ID :- 787,

« 4, Option ID :- 788,
Answer Given:- 3, Option ID : -787

Question ID:- 198

Freferfad & qoam ves 7o § -
(1) oA

(2) T

(3) @

(4 WE

Options:-

.1, Option ID :- 789,
« 2, Option ID :- 790,
. 3, Option ID :- 791,

« 4, Option ID :- 792,
Answer Given:- 4, Option ID : -792

Question ID:- 199
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(1) 3I<H
(2) Safy
(3) =
(4) IfHF

Options:-

.1, Option ID :- 793,
« 2, Option ID :- 794,
« 3, Option ID :- 795,

« 4, Option ID :- 796,
Answer Given:- 4, Option ID : -796

Question ID:- 200

(1) SIfe=F o= - F9

(2) fovem g - =

(3) gEwETEE - H

(4) HeuarEsd - Sl
Options:-

.1, Option ID :- 797,
« 2, Option ID :- 798,
. 3, Option ID :- 799,

. 4, Option ID :- 800,
Answer Given:- 2, Option ID : -798

Frfafed & @& =i gfte § s @ -

Subject : GA_Q21-Q30_PGTHIS

Question ID:- 201

(1) Bihar

(2) Maharashtra

(3) Andhra Pradesh
(4)

4 Madhya Pradesh

(1) fe@r

(2) HERMS

(3) Y YW

(4) = YU
Options:-

Which of the following states in India does not have a bicameral legislature ?

Frfafed § & wra & %@ 4 w9 9 fgae faurdsa 78 872
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.1, Option ID :- 801,
« 2, Option ID :- 802,
. 3, Option ID :- 803,

. 4, Option ID :- 804,
Answer Given:- 4, Option ID : -804

Question ID:- 202

Assertion (A) : The Government of India adopted the “waterfall’ framework for policy making
during pandemic induced uncertainities since 2020.

Reason (R) : The “waterfall” framework is a flexible approach to policy making which uses
feedback loops and real-time adjustment.

Choose the correct answer from the codes below :

(1)  (A) is correct but (R) is wrong

(2) (A)is wrong but (R) is correct

(3) Both (A) and (R) are correct and (R) explains (A)
(4) Both (A) and (R) are wrong

AR (A) : YA WHR A TeMR ¥ o9 siffe=arssi & SR a9 2020 | Hifg 50 # fag
“rXFIS FHEE | ST |

T (R) : TR e A fai % g T et vsft ¥ e wedw qu ok
TTet-2r$d FaESH &1 JAr foan s gl

e fRu T e | WE TR F T FIOC

(1) (A) T& T i (R) T &

(2) (A)7ed & iR (R) §El ©

(3) (A) 3R (R) §HI W&l § 3R (R), (A) i =& &

(4) (A) 3R (R) ST e §

Options:-

.1, Option ID :- 805,
« 2, Option ID :- 806,
. 3, Option ID :- 807,

« 4, Option ID :- 808,
Answer Given:- 3, Option ID : -807

Question ID:- 203

Which of the following kingdoms was not annexed by the East India company under the ‘Doctrine
of Lapse” ?

(1) Jhansi
(2) Mysore
(3) Satara
(4) Nagpur
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T Efea ot g gy ifa’ & wea fohm Torendl o1 erfude wE fomen e en 2
(1) i

(2) HE
(3) WA
(4) TR
Options:-

.1, Option ID :- 809,
« 2, Option ID :- 810,
. 3, Option ID :- 811,

« 4, Option ID :- 812,
Answer Given:- 2, Option ID : -810

Question ID:- 204

Which of the following statements about mineral resources is incorrect ?
(1) Copper is ductile and a good conductor of electricity

(2) Aluminium is obtained from a clay-like substance called Bauxite
(3) Tinis a Non-Ferrous mineral
(4)

4) Hematite is the finest iron ore containing iron upto 70 percent

wfrs gaeA & 9) ¥ fefafed § 9 &5 91 599 98 T8 2

(1) e yooreer € SR foe & garers &

(2) wEgHifRm, ateEEe A giae S aeE ¥ T 5§
(3) o ww R demaafs

(4) THRES U SOHE wE 3785 ¢ forad 70 wiaer wiel B ©
Options:-

.1, Option ID :- 813,
« 2, Option ID :- 814,
. 3, Option ID :- 815,

« 4, Option ID :- 816,
Answer Given:- 3, Option ID : -815

Question ID:- 205

(1) Only in the atmosphere and outer space

(2) Only in the outer space and underground
(3) Only in the outer space and under water
(4)

4)  Only in the atmosphere, outer space and under water

The Limited Test Ban Treaty (LTBT) signed in 1963 banned nuclear weapon tests
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Hifea wdier wfasa @ (e 2 &t 1), foeae 1963  w&mar foh U 9, yeam] sfeEil o qiiemn 1
¥ ysiferd =l 1

(1) <hael agHed AR Al SaRa

(2) hae S sidier siv gy

(3) e JRd Safte iR art & T

(4) IS agHed, Al siafia &R O F A=

Options:-

.1, Option ID :- 817,

« 2, Option ID :- 818,

« 3, Option ID :- 819,

. 4, Option ID :- 820,
Answer Given:- 2, Option ID : -818

Question ID:- 206

Among the fo]lowing which metal is more reactive ?
(1) Copper

(2) Iron
(3) Zinc
(4) Gold

Frefafed 8 § %1 € g sfus sfafwaria 372

(1) e
(2) @I
(3) TSi=
(4
Options:-

.1, Option ID :- 821,
« 2, Option ID :- 822,
. 3, Option ID :- 823,

« 4, Option ID :- 824,
Answer Given:- 2, Option ID : -822

Question ID:- 207

Which of the following is not present in the cytoplasm ?
(1) Mitochondria

(2) Golgibodies
(3) Ribosomes
(4) Nucleus
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FifehT g4 H Fr=fafed § & 1 safeeq =&l g € 2
(1) wESHi-g

(2) iesil 6=

(3) TEEEm

(4) HEFR
Options:-

.1, Option ID :- 825,
« 2, Option ID :- 826,
. 3, Option ID :- 827,

« 4, Option ID :- 828,
Answer Given:- 4, Option ID : -828

Question ID:- 208

Who among the following players won the FIFA World Cup 2022 ‘'The Golden Ball” Award ?
(1) Kylian Mbappe

(2) Cristiano Ronaldo

(3) Lionel Messi
(4)

4 Neymar

HIH gTs &Y, 2022 § ‘Tiieed aie’ %1 JuhR FefeiEa ¥ 9 fFe faarg) F s ?

(1) =FfeEs wam
(2) Terfezar Tee]
(3) TorsTr wwt
(4) ¥R

Options:-

.1, Option ID :- 829,
« 2, Option ID :- 830,
. 3, Option ID :- 831,

« 4, Option ID :- 832,
Answer Given:- 3, Option ID : -831

Question ID:- 209

Who among the following authors won the ‘Sahitya Akademi Yuva Puraskar’ 2022 in Sindhi
language ?

(1) Geeta Pradeep Rupani

(2) Kirti Pradeep Rupani
(3) Monika Panjwani
(4) Heena Aswani

TELEGRAM - @TEACHINGEXAM

@ Teachingninja.in



Tt v # ‘ wfee stepreH! Fan g’ 2022 fr=fafed 9§ 9 fe oras F sftar ?

(1)  7fran werg st

(2) ehifd &g &9

(3) HifeRT gSTami

(4) B SAEEH
Options:-

.1, Option ID :- 833,
« 2, Option ID :- 834,
« 3, Option ID :- 835,

« 4, Option ID :- 836,
Answer Given:- 3, Option ID : -835

Question ID:- 210

Which of the following computer languages uses mnemonics ?
(1) High Level Language

(2) Machine Language
(3) Assembly Language
(4) C Programming Language

frfafea 9§ 9 &F 9 Frget oas  fedifea’ & gam & 2§ 2

(1) & oFd oS

(2) HIA TiEs

(3) STETSEl o

(4) Ht gt efves
Options:-

.1, Option ID :- 837,
« 2, Option ID :- 838,
. 3, Option ID :- 839,

. 4, Option ID :- 840,
Answer Given:- 4, Option ID : -840

Subject : RA_Q31-Q35_PGTHIS

Question ID:- 211

Choose the correct alternative that will continue the same pattern and replace the question mark
(?) in the given letter - cluster series.

HMS, MTB, SBL, ZKW, ?

(1) HVX
(2) HUI
(3) KVL
(4 HWM
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T8 w2l fomey =1 =7 L i &1 T8 SAeR-wE daen H s Yo &l 9 W@ SRy faw o) wem A
HMS, MTB, SBL, ZKW, ?

(1) HVX
(2) HUI
(3) KVL
(4 HWM

Options:-

.1, Option ID :- 841,
. 2, Option ID :- 842,
. 3, Option ID :- 843,

. 4, Option ID :- 844,
Answer Given:- 2, Option ID : -842

Question ID:- 212

Six friends Anuradha, Abha, Manisha, Monika, Rashmi and Sulekha are sitting around a circular
table facing outside the circle (not facing towards the centre). Anuradha is neighbour of Manisha
and Abha. Anuradha is sitting third to the right of Monika and is second to the left of Sulekha.
Manisha is sitting third to the right of Sulekha.

Who is sitting immediate right of Monika ?

(1) Sulekha
(2) Rashmi

(3) Manisha
(4) Abha

T Helrl, ST, ST, FI, Fifsen], W 77 Yora T IR el & 91/ S (A 6 s &l S Hg
9 FTh) AR FI SR HE FT Al & | ST, T SR S ) TS ¥ | ST, Wi % grf ofr der
T TR TR Hora! o ar SR SHY ¥IF T AST 8§ | T, Horan o SRl SR e T W Sel 6 ¢
Ao % TeheH il ST S =31 @ 7

(1) Heren

(2) fm

(3) wAE

(4) T
Options:-

.1, Option ID :- 845,
« 2, Option ID :- 846,
. 3, Option ID :- 847,

- 4, Option ID :- 848,
Answer Given:- 1, Option ID : -845

Question ID:- 213
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‘B’ is to the North of ‘A" and to the West of ‘C’. In what direction is ‘C’ with respect to ‘A" ?

(1) North-East
(2) North-West
(3) South-East
(4) South-West

BUAT F I E o F uftEm g @ e, A o TRy feen B €2

(1) SW-g

(2) ST-qfY=H
(3) =feor-gd
(4) =faur-ufe=m
Options:-

.1, Option ID :- 849,
« 2, Option ID :- 850,
« 3, Option ID :- 851,

« 4, Option ID :- 852,
Answer Given:- 4, Option ID : -852

Question ID:- 214

You are given a question and two statements numbered (I) and (II) each containing some
information. Decide which of the statements is/are sufficient to answer the question.

Q: Ayush and Ranjan are standing at a distance of 20 km. They start walking towards each
other. After how much time will they meet if they keep walking ?

(I) : Ayush and Ranjan walk at the speed of 2 km/hr and 3 km/hr respectively.
(II) : The speed of walking of Ayush to Ranjan is 2:3.

(1) The statement (I) alone is sufficient to answer the question while the statement (II) alone is
not sufficient to answer the question.

(2) The statement (II) alone is sufficient to answer the question while the statement (I) alone is
not sufficient to answer the question.

(3) Both statements (I) and (II) together are necessary to answer the question.

(4) Both statements (I) and (II) together are not sufficient to answer the question.
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9 T 99 fean o § s | e (1) &R (1) o e @ oo o § 3o Sed & T ® ) 9 fol

IS for T T/ F99 997 1 SR 39 F fon gaia /2 2

9 27y 3R ISH 20 fR AL & gl W Ee ¥ 19 Uw g &1 SR For IF & € | AR 81 gedl Sl @
al fehae |99 98 U TR 9 fHefi ?

(1): o9 iR o w2 fd /A, o 3 frd/H =t wfa § 3o ¥

(1) : ST 3T IS & = FY M 2:3 7

(1) 3Tehel Y- (1) B T 1 I & o (070 9T € Siateh 3iehet e (I1) T99 1 30 oA o Tog T
TR 7

(2) eTRel A (I1) T R 1 ST o o ToTe 9o & SR sTehet shef-(I) W9 o1 SR o <h foie, g
&l 8

(3) (1) IR FeA- (1), T WY foeTHt 999 w1 W 1 F oy, smevas T

(4) FEA-(I) SR FA-(I1), AT W o oft w9 1 IR <7 & o v 78 )

Options:-

.1, Option ID :- 853,
« 2, Option ID :- 854,
« 3, Option ID :- 855,

« 4, Option ID :- 856,
Answer Given:- 3, Option ID : -855

Question ID:- 215

In the following figure, the square represents lawyers, the circle represents judges, the triangle
represents girls and rectangle represents honest people.

14

N\
\ 8\ 15
9 \ 13

20

Which number represents girls who are lawyers and honest but not judges ?

(1) 8

2 12
(3) 14
4) 15
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ffafed o §, ‘o1’ a1, ‘gn s @, CBE aefEdl #1 oiR e HEeR |l #
yfaffica & & :

14

N
\ 8\ 15
9\

20

13

FH 9 dem 57 wefwal Fi gt € S T @R furer ¥ Ty o T §2

(1) 8
2 12
(3) 14
(4) 15

Options:-

.1, Option ID :- 857,
« 2, Option ID :- 858,
. 3, Option ID :- 859,

. 4, Option ID :- 860,
Answer Given:- 2, Option ID : -858

Subject : CL_Q36-Q40_PGTHIS

Question ID:- 216

Gagan Sen is planning to buy a new smartphone, which one of the following aspects should he not
be bothered about ?

(1) Operating system
(2) Ethernet Port

(3) Internal Memory
(4)

4 Camera Pixels

TH Y9 Teh 91 WA Eiied sl s o7 @1 8 | 26 fefafead § 9 feg vee & et o fHa 781 &
e ?

(1) AT faeew

(2) BUTRE e

(3) EetTa HER

(4) E freaa
Options:-

.1, Option ID :- 861,
« 2, Option ID :- 862,
. 3, Option ID :- 863,
« 4, Option ID :- 864,
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Answer Given:- 2, Option ID : -862

Question ID:-

Which of the following ports will be most suitable for connecting High Quality Audio-Video output

217

on a PC/a laptop ?

(1) PS2
(2) USB
(3) VGA
(4) HDMI

Tordt ot oY / oiveiy o gk qarfael aAffedi-difed seye # #ge &1 & foe gaifs Suge U &iF 91

Options:-

Gl TH 2 (PS2)

7 g & (USB)
o1 Sft T (VGA)
T €l UH 3E (HDMI)

.1, Option ID :- 865,

. 2, Option ID :-

. 3, Option ID

« 4, Option ID :-

Answer Given

866,
- 867,

868,
:- 4, Option ID : -868

Question ID:-

—
p—

sum

— e e
2

W= 2
—_— et e

7@@@@@@@% (function):l—sgf gl

count()

j—t

Sy

L K

— — —

e
il

Options:-

.1, Option ID :
« 2, Option ID :-
. 3, Option ID :-

« 4, Option ID

Answer Given:-

218

is not a basic function of MS Excel.
count()

0

min()

multiply()

0

multiply()

- 869,
870,
871,

:- 872,
4, Option ID : -872
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Question ID:- 219

is the file extension of an Excel file ?

Tl o wEE 1 HEd O (file extension) Tl € 7

(1) excel
(2) xel
(3) xlsx
(4) xelx
(1) excel
(2) xel
(3) xlsx
(4) xelx
Options:-

.1, Option ID :- 873,
« 2, Option ID :- 874,
« 3, Option ID :- 875,
« 4, Option ID :- 876,

Answer Given:- 4, Option ID : -876

Question ID:- 220

Which of the following is not an example of RDBMS ?

(1) MySQL
(2) ORACLE
(3) CALC
(4) IBM DB2

Frafafas § ¥ 9 @1 R 2 & v9 T9 (RDBMS) %1 U IS0 T8l ¢ ?

(1) MySQL
(2) ORACLE
(3) CALC
(4) IBM DB2

Options:-

.1, Option ID :- 877,
« 2, Option ID :- 878,
. 3, Option ID :- 879,
« 4, Option ID :- 880,

Answer Given:- 4, Option ID : -880

Subject : UL_Q41-Q55_PGTHIS

Question ID:- 221
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The ‘cephalo-caudal” principle status that development of the body spreads from :
(1) legs to head

(2) heads to legs

(3) the center of the body outward

(4) outward to the center of the body

‘Tthell sited’ fagia 7 s € o il =1 fasrd B B
(1) TH = i

(2) TR I R R

(3) TER % HeA H S At AN

(4) ST H TR & g H SR

Options:-

.1, Option ID :- 881,
« 2, Option ID :- 882,
« 3, Option ID :- 883,

« 4, Option ID :- 884,
Answer Given:- 2, Option ID : -882

Question ID:- 222

In the context of puberty, which one of the following is an absolutely correct option ?
(A) Estrogen and Progesterone are female sex harmones

(B) Androgens and Testosterone are female sex harmones

(C) Entrogen and Progesterone are male sex harmones
(

D) Androgens and Testosterone are male sex harmones
(1) (B) and (C) are correct
(2) (A) and (C) are correct.
(3) (A) and (D) are correct.
(4) (B) and (D) are correct.

ARy F g #, frefafed § & wF-ar fasey facga @& 22
(B) UgreH iR TR Hrey o g &

(C) TUZIeH 3iR Yo X Yoy g &

(D) UgeH 3R TERTH R Ha el €

(1) (B) 3R (C) 9&t 1
(2) (A) =3 (C) w2l
3)  (A) sﬂ? (D) ¥&l B |
(4) (B) &R (D) W& ¥
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Options:-

.1, Option ID :- 885,
« 2, Option ID :- 886,
. 3, Option ID :- 887,

« 4, Option ID :- 888,
Answer Given:- 3, Option ID : -887

Question ID:- 223

A teacher observes that his students are taller and heavier than before. On the part of the students,
it shows their

(1) growth

(2) maturation

(3) development
(4) morphogenesis

T 279 I8 <Td © o 0% BT Ueel I AU e 3T aoFel 1 BE & S H 98 SAH/EE

=l Wi El
(1) s

(2) YR9FEH

(3) farm

(4) HET-foerrg
Options:-

.1, Option ID :- 889,
« 2, Option ID :- 890,
. 3, Option ID :- 891,

- 4, Option ID :- 892,
Answer Given:- 4, Option ID : -892

Question ID:- 224

Which of the following is the correct options ?
(1) Learning and maturation are two processes through which growth occurs
3

(2) Progress and maturation are two processes through which growth occurs
(3) Maturation and learning are two processes through which development occurs
(4) Development and learning are two processes through which maturaion occurs

Frefafad § 9 -9 fawey w8t g 2
(1) sfrm oIk ftgeem < ufward ¥ foms mem & gfg 3t &

(2) wfa iR uftgses <1 gferand € fomes mem § gfg gt 81
(3) ufteeE aiw siferm < wfspard ¥ fomes merm A fammrg g &
(4) Tosm 2R sifym g1 yfsrand € e s 9 aftyesd 2 g |

Options:-
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.1, Option ID :- 893,
« 2, Option ID :- 894,
. 3, Option ID :- 895,

« 4, Option ID :- 896,
Answer Given:- 3, Option ID : -895

Question ID:- 225

Which one of he following studied the child’s responses to moral dilemmas ?
(1) TPiaget

(2) Erikson
(3) Kohlberg
(4) Skinner

Frefafaa § 9 forg aas &t Afas gfawsti § gfafem @1 st fwm ?

(1) frems
(2) TREA
(3) =hieter
(4) T&R
Options:-

.1, Option ID :- 897,
« 2, Option ID :- 898,
. 3, Option ID :- 899,

« 4, Option ID :- 900,
Answer Given:- 3, Option ID : -899

Question ID:- 226

The cognitive aspects of the personality of an individual do not include his/her :
(1) motivation

(2) thinking

(3) attention

(4) perception

forelt =afem & =Afodea o WS Tee H ST wfHe &l 81
(1) s

(2) fa=m

(3) STAYUN

(4) YeIEl Sy
Options:-

.1, Option ID :- 901,
« 2, Option ID :- 902,
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. 3, Option ID :- 903,

. 4, Option ID :- 904,
Answer Given:- 3, Option ID : -903

Question ID:- 227

Read the following :

(A) Among boys and girls, different parts of the body grow at same rate.

(B) Among boys and girls, same parts of the body grow at different rate.
(C) Among boys and girls, different parts of the body grow at different rate.
(D) Among boys and girls, same parts of the body grow at same rate.
Which one of the following is the correct option ?

(1) (A) and (D) are correct.

(2) (B) and (C) are correct.

(3) (C€) and (D) are correct.
(4)

A) and (B) are correct.

Trefafed =1 gfeu

(A) o=l oir wefral H v & fum-fam o v & @ w fasfd 2 ¥
(B) weehi iR wefral #, vk & wmw oi fu=i-fa o3 wx foerfaa 2@ €1
(C) Igehi AR ereferal H, Wi & fim-fumr o fa=-fir <t w fassfua 2 €)
(D) oIl 3R Tefrdl H, I & gum 2 g0 ) W fasiaa 2@ €)1

Trefafed 5 9 %M 9 faskey & 21
(1) (A) ¥R (D) && 21
(2) (B) #R (C) |t T
(3) (C) i (D) wé 1
4) (A) 3R (B) Tl ¥

Options:-

.1, Option ID :- 905,
« 2, Option ID :- 906,
. 3, Option ID :- 907,

« 4, Option ID :- 908,
Answer Given:- 2, Option ID : -906

Question ID:- 228

Pre-school children trust on their parents as a secure base to explore the environment. This shows
their

(1) cognitive development

(2) social development
(3) emotional development
(4) moral development

TELEGRAM - @TEACHINGEXAM

@ Teachingninja.in



Teraner™—qd sereh a1aresy] =] @isi o fefd 79 Hid- o 9 Tk e STeR & &9 4 fagad #id 8| 98

SRl i €
(1) HamcHs® faswE

(2) HHrSe faeRm™

(3) e fash

(4) Afgew fawm
Options:-

.1, Option ID :- 909,
« 2, Option ID :- 910,
« 3, Option ID :- 911,

« 4, Option ID :- 912,
Answer Given:- 3, Option ID : -911

Question ID:- 229

A teacher gives a problem to adolescent students that “Xis taller than Y, Y is taller than Z then who
is the tallest’” ?

This teacher expects that this problem :

(1) 1is too easy for the students as it requires symbolic thinking

(2) can not to be solved by the students as it requires critical thinking
(3) can be solved by the students as it requires abstract thinking
(4)

4 should not be given to the students as it requires concrete thinking

T AAIE IR @i hl TF g cdl e R X YH GO 2 AR Y, ZH dal 8, ol Jad @anshid &' 2
TE HATF 9 Fl = foF 98 v
(1) el % fore e 79 § #Hife T98 Udies foaT &I sTevaswa 2

(2) O GRIEE &I fohan ST WAt Fiifeh THh Ty e feaT Sl STaeashd €|
(3) BE gR B oA = weha € it s fow ergd feaw =51 stervaea 2
(4) o 1A fean s =fee, #ifw s faw o T i v g

Options:-

.1, Option ID :- 913,
« 2, Option ID :- 914,
. 3, Option ID :- 915,

. 4, Option ID :- 916,
Answer Given:- 1, Option ID : -913

Question ID:- 230

in case of adolescents, the peers, parents and teachers have no influence on their :
(1) social development

(2) cognitive development

(3) physical development
(4)

4)  emotional development
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(1) HHISER fammm™

(2) HAFARHS fawE

(3) wIRIfE ferepry

(4) TS Tk
Options:-

.1, Option ID :- 917,
« 2, Option ID :- 918,
. 3, Option ID :- 919,

« 4, Option ID :- 920,
Answer Given:- 3, Option ID : -919

TRl & Orver §, Teuifedi, ara-fudr 3R 219219e &1 3% R HE GIE e ISl B

Question ID:- 231

The word adolescence has been derived from the word "adolescene” which is a :
(1) Latin word
(2) Greek word
(3) Japaneese word
(4)

4 African word

‘TS’ veE S TEeEE g € S WTHT =HT Ueh 912 B |
(1) wfed

(2) H

(3) ST

(4) STRTHI

Options:-

.1, Option ID :- 921,
« 2, Option ID :- 922,
. 3, Option ID :- 923,

- 4, Option ID :- 924,
Answer Given:- 2, Option ID : -922

Question ID:- 232

The socialization agents support an individual in :
(1) learning

(2) confirmity

(3) communication
(4)

4 growth
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QTSI 1 et =afam &+t Y 9edl & § |

(1)
(2)
(3)
(4)

Options:-

.1, Option ID :- 925,
« 2, Option ID :- 926,
. 3, Option ID :- 927,

« 4, Option ID :- 928,
Answer Given:- 3, Option ID : -927

sAferrg

STl
P L
qfs

Question ID:- 233

Socialization helps an individual in establishing his/her :

(1) self-identity

(2) social identity

(3) group image

(4) community identity

WIS Tt =afer i SHeh/sH! T =i § el e € |
(1) wE-4Yg=H

(2) HHISF 9=

(3) w3

(4) HHSA 9eEH
Options:-

.1, Option ID :- 929,
« 2, Option ID :- 930,
. 3, Option ID :- 931,

« 4, Option ID :- 932,
Answer Given:- 2, Option ID : -930

Question ID:- 234

‘Shiksha Karmi Project’ of Rajasthan is :

5 T

(1)
(2)
(3)
(4)

4

the name of professional development programme of school teachers
concerned with identifying outstanding contribution of school teacher in education
scholarship programme for meritorious pre-service teachers

a way to ensure community participation in formal education
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SR ot “foren =l ufEsT g

(1) Eheit T=a9ehl & Y9Er fasma FrEET &1 AW

(2) Toan ¥ =pa s1oAeE # IR AFRE F UgE i | Hafyd
(3) HuTEt Fa1 qd sl o fon sEgih weiEy

(4) i e # wgem 1 yriiedt gifeEa w0 o ww wliwm

Options:-

.1, Option ID :- 933,
« 2, Option ID :- 934,
« 3, Option ID :- 935,

« 4, Option ID :- 936,
Answer Given:- 2, Option ID : -934

Question ID:- 235

In India, home schooling is recognized by :

(1) NIOS
(2) CBSE
(3) 1B

(4) ICSE

Rd | =R ¥ foren 3 (G whei) 1 s g S e Fi S 8 2
(1) TA.37E. 30T

(2) HIETEE

(3) et

(4) SEH.THE
Options:-

.1, Option ID :- 937,
« 2, Option ID :- 938,
. 3, Option ID :- 939,

« 4, Option ID :- 940,
Answer Given:- 1, Option ID : -937

Subject : UTL_Q56-Q70_PGTHIS
Question ID:- 236

Which of the following statements is not true about curriculum ?

(1) Curriculum is a complete set and very broad in nature.

(2) Curriculum includes the planned and guided learning experiences.
(3) Curriculum is descriptive in nature.
(4)

4) Curriculum is framed by high level educational experts.
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eI % 9§ T 91 F9F el Tel 8 2

(1) Te==a Uk vl He § au fowgd wey @ ¥

(2) weEEE H Anreas iR R sifur sgve wnfaa 2 2
(3) URHEAl SIS TET H e ¢ |

(4) Al 3= wR % ffeen faRaol gr aAR fora i e

2

4

Options:-
.1, Option ID
« 2, Option ID

« 3, Option ID :-

« 4, Option ID

Answer Given:- 3, Option ID : -943

- 941,
- 942,
943,
- 944,

Question ID:-

Which of

(1) Subject centred approach

(2
(3
(4) Life

gremEdl fagme § frefafaa § 9 #9199 9y &1 anhe W 93T T8 5 o g ?
) fama-—sfza sarm

2) HHEE-hiEd SUNH
)

)

Options:-

.1, Option ID :- 945,
« 2, Option ID :-

. 3, Option ID

« 4, Option ID :-

Answer Given

)  Community centred approach
) Child centred approach
)

AT —higd SIRTH
Sfia-hf=d 39T

237

the following is not commonly used approach for curriculum development ?

centered approach

946,
- 947,

948,
:- 2, Option ID : -946

Question ID:- 238

Which one of the following is the key to Competency Based Education ?
(1)  Acquisition of skill (s)

2

[

(
(
(4

) Learning at one’s own pace
) Immediate feedback
)  Mastering learning
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Trefafaa 5 9 o gaa s s &1 o § 2
(1) hrere aAfsia s

(2) =9 = A =G

(3) dHIA WIS

(4) weoRT stfeEmH
Options:-

.1, Option ID :- 949,
« 2, Option ID :- 950,
« 3, Option ID :- 951,

« 4, Option ID :- 952,
Answer Given:- 1, Option ID : -949

Question ID:- 239

‘Assessment as learning * is :

(1) Partially teacher controlled
(2) Entirely teacher controlled
(3) Partially student controlled
(4) Entirely student controlled

b =

‘arferm & B9 H et ©

(1) enifdres w9 9 sremmes
(2) Ui A % FrEE
() ifers w1 9 B ffE
(4) i =1 frifm
Options:-

.1, Option ID :- 953,
« 2, Option ID :- 954,
. 3, Option ID :- 955,

« 4, Option ID :- 956,
Answer Given:- 2, Option ID : -954

Question ID:- 240

new knowledge from the familiar environment ?
(1) Text book

(2) Integrated text books

(3) Exposure to ICT
(4)

4) Exposure to real life situations

Which one the following can be most useful in developing a habit among children to search from

TELEGRAM - @TEACHINGEXAM

@ Teachingninja.in



BEI g YR arEty € WD U S 9GS w3 Fi oA5a fawiad w3 § fHefafea § 9 9 weifus
IYART & 2

(1) 9gA-I&

(2) wAfRT TEI-TEh

(3) o7 =Y 3w THER

(4) arafaes Sitee =i feafal s S
Options:-

.1, Option ID :- 957,
« 2, Option ID :- 958,
« 3, Option ID :- 959,

« 4, Option ID :- 960,
Answer Given:- 2, Option ID : -958

Question ID:- 241

Main limitation of Computer Assisted Instruction (CAI) is that :
(1) Itis a self learning technique.

(2) It uses mix of text, graphics, sound and videos.

(3) Its learning is too mechanical.
(4)

4) it provides immediate feedback.

FHPEY FHIT SR (Hl U #E) & g wHl Ae 6
(1) &8 U @-fEnm qois 2|

(2) 48 e, Uifthed, eaf iR sfifes o fagor =1 Wi o g
(3) =HH sferTy st el £

(4) F€ TR Rigd® YEH Fdl § |

Options:-

.1, Option ID :- 961,

« 2, Option ID :- 962,

. 3, Option ID :- 963,

« 4, Option ID :- 964,
Answer Given:- 2, Option ID : -962

Question ID:- 242

Which one of the following is not a characteristic of a teacher made test ?
(1) Norms are available for comparison.

(2) Helps identifying learning difficulties of pupils.

(3) Can contain vaﬁety of items.
(4)

4) Covers limited number of competencies.
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Trefafed § | = steame ffHa e @i wek famimd 7& ¢ ?
(1) ger % fou gmds sy £

(2) Bl i AT HeH wioTsdl F1 TeEE i H HarHd 7
(3) =HH % TE F 99 Gitaferd & TFd 2 |
(4) Hiferd A | A 1 HeT B ¢ |

Options:-

.1, Option ID :- 965,
« 2, Option ID :- 966,
« 3, Option ID :- 967,

« 4, Option ID :- 968,
Answer Given:- 4, Option ID : -968

Question ID:- 243

Which of the following may not be a part of strategy for preventing indiscipline ?
(1) Adoption of task oriented approach

(2) Provision of a long list of restrictions which you expect to maintain
(3) Evolving rules through discussion with students
(4) Praising/ Appreciating students for their good achievements

Treafafaa § 9 o SRmE=EEa § o= 1 WD ) Th 90 7 ¢ 2
(1) =EFE SIFTH ] ST

(2) ufqssl =t T de gt F yEye 9 9 e e €

(3) I WY T HLeh HIH AT

(4) S I =S| AT o AT k! GO HEAT

Options:-

.1, Option ID :- 969,
« 2, Option ID :- 970,
. 3, Option ID :- 971,

. 4, Option ID :- 972,
Answer Given:- 2, Option ID : -970

Question ID:- 244

Which of the following classroom practice is not an outcome of Behavior modification approach?
(1) Repetition without reinforcement does not enhance learning,.

(2) Punishment is very effective for eliminating undesirable behavior.
(3) Interest in work and improvement is conducive to learning.
(4)

4)  Variations in presenting the reinforces help modification of behavior.
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Frefafed § @ %A & we o sqeeRr qiedy SUrm @ U 9oy == ¢ ?
(1) Yeer & fom gafa @ eifirm & afg =& &t 21

(2) SIS SAFER I GG FLA F A€ G FH gHE T

(3)  H w9 i gur aftrm & fow gemeE 2§

(4) e 37 H sRaee | FeRR IREda | e fHed 7

2

Options:-

.1, Option ID :- 973,
« 2, Option ID :- 974,
« 3, Option ID :- 975,

« 4, Option ID :- 976,
Answer Given:- 2, Option ID : -974

Question ID:- 245

Which is not a characteristic feature of course delivery in “teacher centred approach’ ?
(1) Use of lecture method

(2) Summative tests

(3) Active learning
(4)

4 No unit planning and unit test

‘ s1eaens hfed Sur’ H fawa wen w1, w =i o, FE 6§ 2

(1) =amer fafu = wEm

(2) ARTIeHE TEE

(3) wfska srferm

(4) I SIS AT AT goHIR THIRTUT el
Options:-

.1, Option ID :- 977,
« 2, Option ID :- 978,
. 3, Option ID :- 979,

« 4, Option ID :- 980,
Answer Given:- 4, Option ID : -980

Question ID:- 246

Read the following carefully :

(a) Students are working individually or in small groups.

(b) They are busy analyzing the identified theme within a pre-set time limit
(c) They are dealing with ‘real life” problem.

Which method of teaching-learning is being followed ?

(1) Problem solving method

(2) Project method
(3) Discovery method
(4) Play way method
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forerferfiad 1 SAFge Hhe

(a) B AfFTT T Y 21291 D1 Y H FH W @ ¥

(b) & 9 fauwg-a%] &1 U QE-Fgiia qaa-—Hm & ia faves & § =2 21
(c) o ‘amfass Siad’ ol TSl 1 T AR W e
foreror-sifermy ot s & fafy syomret = @ %2

(1) gee-gaeE fafy

(2) i fafe

(3) @ fafy

(4) 9 fafy
Options:-

.1, Option ID :- 981,
« 2, Option ID :- 982,
. 3, Option ID :- 983,

« 4, Option ID :- 984,
Answer Given:- 1, Option ID : -981

Question ID:- 247

Which of the following restrictions will not be effective in making an essay type item as restricted
response item ?

Restriction to be imposed on :
(1) Length of response

(2) Content of response
(3) Duration of response
(4) Convergent thinking

T frEyeTs 99 o U Hifag gfafeen wee 99e | 3 3 ufaey gameEt 1@ @i 2
ey fore ov e s 2

(1) wfafsran =1 e .

(2) wfafsran =t favg-ang W

(3) wfdfsean =l @iy @

(4) @fEr fa @

Options:-

.1, Option ID :- 985,

« 2, Option ID :- 986,

. 3, Option ID :- 987,

. 4, Option ID :- 988,
Answer Given:- 4, Option ID : -988

Question ID:- 248
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Which one of the following is not a characteristic of “integrated teaching’ ?
(1) Flexible student groupings

(2) Inflexible schedules

(3) Sources that go beyond textbooks

(4)

4) Relationship among concepts

freAforfian § & %M @ ' wifw fem’ = 1 fadvm 78 22
(1) e BT W

(2) TR-=E HEE

(3) UREA-TEF § O HA

(4) HeheqTsil o sie HaY
Options:-

.1, Option ID :- 989,
« 2, Option ID :- 990,
« 3, Option ID :- 991,

« 4, Option ID :- 992,
Answer Given:- 2, Option ID : -990

Question ID:- 249

In the final analysis, the key to motivation in classroom is :
(1) The interest inherent in the subject matter
The teacher’s personality and his/her teaching method

(2)
(3) The emotional climate of the classroom
(4)

The suitability of curricular experiences in the class

sifaw fereerom #, wean § SRR & g@ $el €
(1) fow-ag ¥ safifea w9

(2) HEATYEH = Aflkied X IWeh! foraqor fafy
(3)

(4)

3)  HET 1 SIEHHE FATET
4) e H yrgEEAl Al S9al i ITGRIdl

Options:-

.1, Option ID :- 993,
« 2, Option ID :- 994,
. 3, Option ID :- 995,

- 4, Option ID :- 996,
Answer Given:- 3, Option ID : -995

Question ID:- 250
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Aptitude Tests measure :

(1) Potentiality

(2) Proficiency

3 Likely success in a profession
¥ P

(4) Achievement

sifaefa wlis 7o §
(1)  H9reFe
(2) WETE
(3) Tedl T H Hyfad goerd
(4) Wi
Options:-

.1, Option ID :- 997,
« 2, Option ID :- 998,
« 3, Option ID :- 999,

. 4, Option ID :- 1000,
Answer Given:- 3, Option ID : -999

Subject : CCLE SOL PE_Q71-Q80_PGTHIS

Question ID:- 251

By following, which one of the actions, a school can act as a ‘learning resource” for community ?

(1) By organizing educative movie shows in community

(2) By nominating teachers as members of all local civic bodies

(3) By organizing ‘discussion camps on social issues in community
(4) By inviting community people in science exhibitions in schools

o= 5 9 forg forn =1 a1y, U T 9e@ & fau  siftr &a’ o1 wear g 2
(1) S # e foew o eafsm ek

(2) =it T FeEl | foeenl @ AmifRd weh

(3) HHIA H WIS Hei W == g’ SIS Feh

(4) YA % Al 1 B | foaam A |1 e e

2

Options:-

.1, Option ID :- 1001,
. 2, Option ID :- 1002,
. 3, Option ID :- 1003,

. 4, Option ID :- 1004,
Answer Given:- 4, Option ID : -1004

Question ID:- 252
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How a community can contribute best to school as a ‘learning resource” ?

(1) By selecting its best persons from all vocations to interact with students and teachers
(2) By effectively participating in P.T.A. meetings

(3) By donating generously for school development

(4) By providing free of cost, best technicians to build school labs ?

U Ter faemed & aafermg wim’ % w9 ° dneE R g € g R 2

(1) |t =rEErE | g2 an wEfta # famnfuEr iR fuemi % e st siafsn g
(2) sfmas T dei § guret ariert g

(3) Tpel < foshry ¥q SeRal yE® gH St

(4) el I FANTNEAIS &1 99 g F:9esk Iady qehieh] Sl ol gl

Options:-

.1, Option ID :- 1005,

« 2, Option ID :- 1006,

. 3, Option ID :- 1007,

. 4, Option ID :- 1008,
Answer Given:- 2, Option ID : -1006

Question ID:- 253

As per WHO which one of the following is not an indicator of sound mental health ?
(1) Sense of Coherence

(2) Optimism
(3) Sense of Control
(4) Confidence

forge Tarees Gi1eT % AR o155 HIHTHE TETE i hi- |1 T T ?

(1) gHIfd =t q9A

(2) SRTETE

(3) s = wHm

(4)  srreHfergaTd
Options:-

.1, Option ID :- 1009,
« 2, Option ID :- 1010,
. 3, Option ID :- 1011,

. 4, Option ID :- 1012,
Answer Given:- 1, Option ID : -1009

Question ID:- 254
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How many types of disabilities have been identified through RPWD Act, 2016 ?
(1) 18

(2 19
(3) 21
(4)

HR Yl S50 I W (RPWD) 2016 1 foha WebR =t ATl =l s ?

(1) 18
(2) 19
(3) 21
(4) 23
Options:-

.1, Option ID :- 1013,
« 2, Option ID :- 1014,
. 3, Option ID :- 1015,

. 4, Option ID :- 1016,
Answer Given:- 3, Option ID : -1015

Question ID:- 255

Which one of the following member of school development planning commiittee is likely to contribute
minimum ?

(1) District inspector of schools

(2) Manager of an adjoining industry

(3) Parents of school children
(4)

4) Professors of a nearby college

el fase firsm a@fafa =1 f= 5 9 $1F-9 99 § 999 F9 AFRH $i SJ9e § 2
(1) foen faemem e

(2) The % 3TF & YEUF

(3) THe F=dl & AfIES

(4) The o wEIfa=erd o 9iHat
Options:-

.1, Option ID :- 1017,
. 2, Option ID :- 1018,
. 3, Option ID :- 1019,

- 4, Option ID :- 1020,
Answer Given:- 2, Option ID : -1018

Question ID:- 256
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Which one of the following can provide a good school leadership ?

(1) A teacher who has a mastery in communication

(2) A teacher who involves learners and seeks their partnership even in teaching
(3) A teacher who recently passed a course on school leadership with distinction
(4)

4) A teacher who was elected as president of teacher association

99 ¥ ®H-91 T T ol I3 ged YeH L Hohdl & ?
(1) o foreqes =i wowor o <1 &

(2) U foerer s sl i qRieRT #a € 3R 3% fugu e 4 off wnfge = @
(3) e Torerr fomm wre § € wpat g W e Fvae § aremsn e fa #
(4) U Torerss S forerer ufiee &1 ores IO R

Options:-

.1, Option ID :- 1021,
. 2, Option ID :- 1022,
. 3, Option ID :- 1023,

. 4, Option ID :- 1024,
Answer Given:- 2, Option ID : -1022

Question ID:- 257

In the present school scenario which role is generally not expected from a school teacher ?
(1) Curriculum designing
(2) Reflective practitioner
(3) Team builder and initiator
(4)

4 Coach and mentor

A WheA i g B g 7§ g e w1 wha e & smen TE @ e €2

(1) greg=E fam
(2) To= qot e e
(3) T M 3 FEATT Al
(4) AR IHTE
Options:-

.1, Option ID :- 1025,
« 2, Option ID :- 1026,
. 3, Option ID :- 1027,

- 4, Option ID :- 1028,
Answer Given:- 3, Option ID : -1027

Question ID:- 258
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The best role of a school teacher as a coach is reflected in the act of

(1) Curriculum planning

(2) Preparing students for examination
(3) Story telling
(4)

4)  Evaluating student’s performance

U HE F B9 H AHE 6 Foqy yfaw fmad fowd &2
(1) gew=ai fmio g

(2) T I GhE I GO wO

(3) el g H

(4) B = Tt o gedisd H
Options:-

.1, Option ID :- 1029,
« 2, Option ID :- 1030,
. 3, Option ID :- 1031,

. 4, Option ID :- 1032,
Answer Given:- 2, Option ID : -1030

Question ID:- 259

Ms. Nair, the language teacher was told by her Principal,

this new technique of evaluation and he wants us to implement it immediately.” This is an example

of :

(1) Demonstration Model

(2) Grassroot Model

(3) Administrative Line Staff Model
(4) Activity Model

qTy1 forerer g ot AR &1 39 9= | e, R e W5 ) gedis w1 39 8 fafy &1 g =ren g sl

=Ed © 5 &1 38 dehTel oF] i | A8 ThaeT SERI § 2
(1) 9e¥H HiaHH =

(2) HUdErd YidHE o

(3) yemEE W& giage &6

(4) ifafafy gfeas =

Options:-

.1, Option ID :- 1033,
. 2, Option ID :- 1034,
. 3, Option ID :- 1035,

. 4, Option ID :- 1036,
Answer Given:- 3, Option ID : -1035

Our education minister has come through

Question ID:- 260
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The most suitable stage to develop analytical and critical thinking among students is :
(1) Primary level

(2) Middle school level

(3) Secondary school level

(4) Senior secondary school level

D Y faveiuedes qe1 SHerEAe e fasfad # 3 gaifte Sugea & g ?
(1) wrafaes e &R

(2) fofedt wper @

(3) HrEAEF THe TR

(4) afte Treafys e T
Options:-

.1, Option ID :- 1037,
. 2, Option ID :- 1038,
. 3, Option ID :- 1039,

« 4, Option ID :- 1040,
Answer Given:- 3, Option ID : -1039

Subject : HIST_Q81-Q180_PGTHIS

Question ID:- 261

Given below are two statements, one labelled as Assertion(A) and the other labelled as
Reason(R) :

Assertion(A) : The Harappans took care of their need of water and paid attention to
water management.

Reason(R) : A large number of wells were dug at Mohenjo-daro.

In the context of the above statements which of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

= 31 g fow T B, o § U 1 e (A) R S B SRROT (R) Rl TR ;

T (A) : TSUI S AN TYH SeA-ATILIHRA 1 21 TEd 9 TS Sot-Ta+4 & Jfa-SinmeEes 91
WHRUT (R) : AieTsies ¥ 91 den § $U gear ™ 9|

3 & Teet & ged | frafefe § @ - ad &2

(1) (A) 1 (R) S W& € 30 (R), (A) i TE =0 B

(2) (A) @I (R) T G €, WG (R), (A) F HE =TS T ¥
(3) (A) W&l &, W (R) A€ B
(4) (A) 7T 8, 9 (R) FEI )
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Options:-

.1, Option ID :- 1041,
« 2, Option ID :- 1042,
. 3, Option ID :- 1043,

« 4, Option ID :- 1044,
Answer Given:- 1, Option ID : -1041

Question ID:- 262

A naked torso image of stone which is famous for its sculpting technique has been found
from which Harappan site ?

(1) Harappa

(2) Mohenjo-daro
(3) Kalibangan
(4) Dholavira

g FAfHd Wk =7 hee Jfd, S 39T 98I0 dekeieh o o faend &, ford 3eudiy 2ot § urd g8
¥

(1) &&=

(2) HETSIgEl

(3)  eHTErE

(4)  HrEmE
Options:-

.1, Option ID :- 1045,
« 2, Option ID :- 1046,
. 3, Option ID :- 1047,

. 4, Option ID :- 1048,
Answer Given:- 2, Option ID : -1046

Question ID:- 263

Who among the following was NOT included in the list of Panchavaggiya monks to whom
the Gautama Buddha gave his first Sermon ?

(

1) Mahanama
(2) Mahakassapa
3)

Kaundinya

-
e

(4) Vappa

TELEGRAM - @TEACHINGEXAM

@ Teachingninja.in



Frefafad § § 9 39 dafr fygsl § ofiufag =& o, 7o g g3 3 299 ggg goe
fear an?

(1) #Her ™

(2) HEERE

(3) iU

(4 ==
Options:-

.1, Option ID :- 1049,
. 2, Option ID :- 1050,
. 3, Option ID :- 1051,

«. 4, Option ID :- 1052,
Answer Given:- 4, Option ID : -1052

Question ID:- 264

Which of the following is NOT the part of the a Buddhist Stupa ?
(1) Anda

(2) Vedika

(3) Harmika

(4) Sukanasika

Fr=feafed § & = sitg &9 & 27 & 2a 8?2

(1) @fs

(2) afes

(3) Efe

(4) gFEATEH
Options:-

.1, Option ID :- 1053,
« 2, Option ID :- 1054,
. 3, Option ID :- 1055,

«. 4, Option ID :- 1056,
Answer Given:- 4, Option ID : -1056

Question ID:- 265

The credit of bringing the Arthasastra of Kautilya to light by his text and translation goes
to;

(1) R. Shamashastri
(2)  Julius Jolly

(3) K.P. Jayaswal
(4) William Jones
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Fifee F VT Fl 29 Gel TS STHAIE 511 W9l H o+ 1 9 fohd Sran 8 2

(1) ST, SRS

(2) Sfera Sie

(3) .. SEEETE

(4) faferawm Sig
Options:-

.1, Option ID :- 1057,
« 2, Option ID :- 1058,
. 3, Option ID :- 1059,

« 4, Option ID :- 1060,
Answer Given:- 4, Option ID : -1060

Question ID:- 266

Which of the following Tirthankaras is considered to be a female Tirthankara according
to Svetambara tradition ?

(1) Neminatha
(2) Naminatha
(3) Mallinatha
(4) Chandraprabha

VAR IR % S9N FreAfafad defal § § oE o diefs o S § 2

(1) =AfgTe
(2) FfETE
(3) Hiee
(4) ==99
Options:-

.1, Option ID :- 1061,
« 2, Option ID :- 1062,
. 3, Option ID :- 1063,

. 4, Option ID :- 1064,
Answer Given:- 4, Option ID : -1064

Question ID:- 267
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Who among the following Mauryan rulers gifted caves to the Ajivikas ?
() Chandragupta

(i) Asoka

(i) Dasaratha

(iv) Samprati

Select the correct answer from the code given below :

(1) (i) and (ii) only

(2) (il and (iii) only

(3) (iii) and (iv) only

(4) (i), i) and (iii) only

frfafaa § 9 fre 90 rgei 3 ersifaes & fag Ter-em fFan?

() =R
(i)  ST9R
(iif) RR™
(iv) Feid

e o3 T4 He i e | WE S H T B
(1) Fae (i) 3R (ii)

(2) e (i) S (i)

(3) I (iii) 3R (iv)

(4) e (i), (i) TR (i)
Options:-

.1, Option ID :- 1065,
« 2, Option ID :- 1066,
. 3, Option ID :- 1067,

. 4, Option ID :- 1068,
Answer Given:- 2, Option ID : -1066

Question ID:- 268

Who among the following Gupta rulers issued golden coins with the lowest percentage of
gold ?

(1) Budhagupta

(2) Narasimhagupta
(3) Skandagupta

(4) Vishnugupta
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frefafaa § 9 fg 7@ v 3§ g9 w0 @i gfaee are @i-faes ol w2

(1) I
(2) TEETd
(3) wH=I
(4) foorTd

Options:-

.1, Option ID :- 1069,
« 2, Option ID :- 1070,
. 3, Option ID :- 1071,

« 4, Option ID :- 1072,
Answer Given:- 3, Option ID : -1071

Question ID:- 269

Gupta coins exhibit not only variety of types but of metals as well. Who among the following
rulers issued coins of gold, silver, copper and lead ?

() Samudragupta

(i) Chandragupta-II

(iii) Kumaragupta-I

(iv) Skandagupta

Select the correct answer from the code given below :

(1) (i) and (ii) only
(2) (ii) and (iii) only
(3) (i), (iii) and (iv) only
(4) (1), (1), (iii) and (V)

[ ITERT A hed A= YRl afess fafay gqsti o faoh T fed | fsfafad § § foq
TR A Y, Hiet, dien T S wet g o foees S R 2

CRL

(i) =1

(iii)  FHRT-I

(iv) =T

1= o3 79 e Herd 9 W I I H
(1) e (i) sﬁ?(ﬁ)

(2) Fad (i) 3R

(3) A (i), ( )@?(w)

(4) (i), (i), (i) 3 (iv)

Options:-

.1, Option ID :- 1073,
« 2, Option ID :- 1074,
. 3, Option ID :- 1075,
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. 4, Option ID :- 1076,
Answer Given:- 3, Option ID : -1075

Question ID:- 270

Match List-I with List-II and choose the correct answer from the code given below :

List-I List-1I
(Jain Councils) (Their Presidents)
(a) Pataliputra Council (i) Arya Skandila
(b) Mathura Council (ii) Devardhigani Kshamasramana
(c) Vallabhi, It Council (iii) Nagarjunasuri
(d) Vallabhi, " Council (iv) Sthulabhadra

(@ () () ()
H @ @ @)
(2 @ @ @) @
3 @) @ @D (
(4) Gv) (@) (D) (

T - 1 1 =i - 119 Yoferd wifse o == fed 74 ghe 1 Qe § W&l St o1 =97 Hifeg
-1 Tt - 10

(S FrerTd ) (STF 37emaT)
(a) URfEga = () M e
(b) | =T (ii)  <aEfERTor
(c) werHl, Werd A (iff) TSR
(d) aeaHr, fgdE s (iv) TYA9E
< :

@@ (b) (9 (d)
1 @O @ @) @)
(2) G) @) @) ()
(3) @v) (@) (D) (i)
(4) (v) (@) @E) ()

Options:-

.1, Option ID :- 1077,
. 2, Option ID :- 1078,
. 3, Option ID :- 1079,

« 4, Option ID :- 1080,
Answer Given:- 3, Option ID : -1079

Question ID:- 271
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Match List-I with List-II and choose the correct answer from the code given below :

List-I

(Country)
(a) Gandhara
(b) Yavana

(c) Suvarnabhumi
(d) Aparanta

(@ () (9
M @ @ ()
(2) () G@v) (i)
3 @) @ @i
4) @) @ (v)

it - 1 1 Tl - 11 8 gafad skifse e == el T8 e i 9eEd 9 & SOt &l 9499 S

gt -1

(<)
(a) TMER
(b) F&7
(c) Fariyfa
(d) e
< :

(@ () (o
(H @ @) ()
(2) (D) (v) (i)
(3) (v) (@) (i)
(4) () (@ (v
Options:-

.1, Option ID :- 1081,
« 2, Option ID :- 1082,
. 3, Option ID :- 1083,

. 4, Option ID :- 1084,

Answer Given:- 2, Option ID :

-1082

—
it

B

Tk

List-II

(Missionary)

Yavana Dharmarakshita
Sona and Uttara
Majjhantika
Maharakshita

T - 11
( erdy=mes )
T YHfEd

Question ID:- 272
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Arrange chronologically the following famous Vaishnava personalities :

(i) Nathamuni

(i) Ramanujacharya
(ii) Vallabhacharya
(iv) Vedantadesika

Select the correct answer from the code given below :

(1) (@), (), (i), (iv)
(2) (), (i), (v), (1)
(3) () (i), (iv), (i)
(4 (), (1), @), (@)

frferfaa dwma-fayfadl = fafsrarar srafen Fif
(i) T

(i) TS

(iii) FEAITET

(iv) derIeiTS

e feX T4 He i el W T H A Hifog :

(1) @) @), (i), @v)

(2) (@), (i), (v), ()

(3) (@), (i), (iv), (iii)

(4) (i), (ii), (i), (iv)

Options:-

.1, Option ID :- 1085,
« 2, Option ID :- 1086,
. 3, Option ID :- 1087,

. 4, Option ID :- 1088,
Answer Given:- 4, Option ID : -1088

Question ID:- 273

Which of the following Harappan sites has yielded a copper chariot ?
(1) Mandi

(2) Sanauli
(3) Ropar
(4) Bhagwanpura
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Trefafad § 9 oy 22w JUee | drFsl &l Tk 18 U 911 @ 2

(1) Huet

(2) g

(3) ue

(4) HTETTIU
Options:-

.1, Option ID :- 1089,
« 2, Option ID :- 1090,
. 3, Option ID :- 1091,

« 4, Option ID :- 1092,
Answer Given:- 4, Option ID : -1092

Question ID:- 274

Which of the following Harappan sites was established for harnessing a particular
semi-precious stone ?

(1) Harappa

(2) Lothal
(3) Shortughai
(4) Dabarkot

Tfafad § 9 fry 25wy Qs ol Th (98 YhR & Tk Hd] Jed¥ ol S9N A < fag
woqrfue feman T 912

(1) =&=
(2) <
(3) ¥
(4) TIARHIE
Options:-

.1, Option ID :- 1093,
« 2, Option ID :- 1094,
. 3, Option ID :- 1095,

. 4, Option ID :- 1096,
Answer Given:- 3, Option ID : -1095

Question ID:- 275

Which of the following metals contributed in a good measure in the development of
Harappa civilisation ?

(1) Iron
(2) Copper
(3) Gold
(4) Silver
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Tow gual & fowm A frefafea § 4 fFg ag #1 92 T9W W FreE 912

(1) @
(2)
(3) Hm
(4) =R
Options:-

.1, Option ID :- 1097,
. 2, Option ID :- 1098,
. 3, Option ID :- 1099,

. 4, Option ID :- 1100,
Answer Given:- 2, Option ID : -1098

Question ID:- 276

According to the Dharmashastras one’s status in the social hierarchy is based on :

(1) Dharma
(2) Artha
(3) Varna
(4) Satta

g % SR G Sshn H st o s e g fraffed 2 o

[

(1) =
(2) =
(3) @i
(4) HI
Options:-

.1, Option ID :- 1101,
. 2, Option ID :- 1102,
. 3, Option ID :- 1103,

. 4, Option ID :- 1104,
Answer Given:- 3, Option ID : -1103

Question ID:- 277
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Given below are two statements, one labelled as Assertion(A) and the other labelled as
Reason(R) :

Assertion(A) : Gupta kings issued largest number of gold coins.

Reason(R) : Economic condition of the general people during that period was very
good.

In the context of the above statements which of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false

(4) (A)is false, but (R) is true

== <1 geaer few T €, o ¥ U ) U (A) R SHL 1 SRIUT (R) e TR ¢
A (A) : T T A TEH gl Gen § 9 & fgens S fRu

HIOT (R) : 39 &I H S A &1 oTfeder fearfa aga st o)

7 < aFed & g H frefofea d SR mwdr 22

(1) (A) @ (R) S W&t € iR (A) 1 wEl =@ (R) T

(2) (A)TT(R) ST W&l €, T (R), (A) i WEl A0S TE §
(3) (A) Wl &, W (R) 7T T
(4) (A) TeId €, 9 (R) HEl €1

Options:-

.1, Option ID :- 1105,
« 2, Option ID :- 1106,
. 3, Option ID :- 1107,

. 4, Option ID :- 1108,
Answer Given:- 1, Option ID : -1105

Question ID:- 278

Arrange the following in chronological order :

(i)  Beginning of idol worship in Buddhism

(i) Emergence of Mahajanapadas

(i) Repair of Sudarshan Lake

(iv) End of Satavahana State

Choose the correct answer from the code given below :

(1) @), @), (i), (iv)

) (i), (), (3), (i)
(3)  (v), (i), (i), (i)
(4) @), (i), (i), (iv)
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frafafad s s § Fraferd Hifa
() g e § gitgsn 1y

(i) HETSIIGl Hl g

(iv) Hrddred T skl =

= feu U He T W I =TI HifeI
(1) (), (@), (i), ({v)

(2) (i), (iv), (i), (i)

(3) (), (i), (i), (1)

(4) () (i), (i), (iv)

Options:-

.1, Option ID :- 1109,

« 2, Option ID :- 1110,

. 3, Option ID :- 1111,

. 4, Option ID :- 1112,
Answer Given:- 1, Option ID : -1109

Question ID:- 279

Arrange the following in the chronological order :
()  Ashvaghosha

(i) Silppadikaram
(iii) Megalithic culture
(iv) Firstinscriptional evidence of decimal system

(1) (), (@), (iv), (i)
) (), (i), (i), (i)
(3) (i), (i), ( )(W)
(4) (@), (iv), (i), @)
Tr=fafad =l wergEs § gt Hife
(i)  SATeEM™
(i) forewfemrE
(iii) HETITSIUIY HEahfd
(iv) <HAS YOTel 1 9UH AferEE gEm
A< feu 71U he H Wl I H =TI hifod
(1) (i), (i), (iv), (i)
(2)  (v), (i), (1), (i)
(3) (@), (i), @), (iv)
(4) (), (), (i), (i)
Options:-

Choose the correct answer from the code given below :
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.1, Option ID :- 1113,
« 2, Option ID :- 1114,
. 3, Option ID :- 1115,

. 4, Option ID :- 1116,
Answer Given:- 1, Option ID : -1113

Question ID:- 280

Arrange the following yugas in the chronological order :

(i) Dwapara

(i) Treta
(iii) Krita
(iv) Kali

Choose the correct answer from the code given below :

(1) (1), (i), @), (iv)

(2) (i), (D), (@), (iv)
(3)  (v), (i), (i), (i)
(4) (@), (N (i), (ii1)

(i) T
(iii) $d
(iv) =hiet
A< feu T he § | WE 3T H =qET FIeT
(1) (i), (i), (i), (iv)
(2) (i), (i), (@), (iv)
(3) (i), (i), (i), (i)
(4) (), (), (1), (i)
Options:-

.1, Option ID :- 1117,
« 2, Option ID :- 1118,
. 3, Option ID :- 1119,

. 4, Option ID :- 1120,
Answer Given:- 2, OptionID : -1118

Question ID:- 281
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Arrange the following in a chronological order :
(i) Mahajanapada

(i) Jana

(iii) Empire

(iv) Janapada

Choose the correct answer from the code given below :

(1) (@), (i), (@), (iv)

(2) (), (@v), (i), (i)

(3) (@), (1), (iv), (i)

(4) (i), (), (@), (iv)

Trfafad =1 werEs | e St
() HINAYS

(i) =H

(iii) SEEA

(iv) IR

= feu U He T W I =TI HifeI

(1) (i), (i), (), (i)

Options:-

.1, Option ID :- 1121,
« 2, Option ID :- 1122,
. 3, Option ID :- 1123,

. 4, Option ID :- 1124,
Answer Given:- 3, Option ID : -1123

Question ID:- 282

Arrange the following in a chronological order :
(i) Panini

(i) Vikram Samvat

(iii) Kharavela

(iv) HuenTsang

Choose the correct answer from the code given below :

(1) @), @), (iv), (i)
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Trfafad 1 FerdeEd | Faferd Hife
@) oy

(i) ferd Heoq

(iii) WA

(iv) BETE

= feu ¢ ke H © W I =TI i
(1) @) (i), (iv), (i)

(2) (i), @), (i), ()

(3) (1), (1), (i), (1v)

(4) (), (i), (iv), (i)

Options:-

.1, Option ID :- 1125,
. 2, Option ID :- 1126,
. 3, Option ID :- 1127,

. 4, Option ID :- 1128,
Answer Given:- 2, Option ID : -1126

Question ID:- 283

Ashoka’s contemporary king of Macedonia was :

(1) Alexander
(2) Antigonas Gonatas

(3) Magas

(4) Ptolemy Philadelphus-II

9T & U TETSI21 &l T= o1
(1) eFwiFsist
(2) TRTIHH T
(3) #H
(4) eoE frarserE-1I
Options:-

.1, Option ID :- 1129,
. 2, Option ID :- 1130,
. 3, Option ID :- 1131,

. 4, Option ID :- 1132,
Answer Given:- 4, Option ID : -1132

Question ID:- 284
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Who among the following is considered as the father of Greek history writings ?

(1) Homer

(2) Herodotus
(3) Thucydides
(4) Xenophon

Trefafiad § 9 #iH e hrm—aeT & SHF TH S 8 2
(1) =R
(2) TERd

) -

(3) oHieEE
(4) SHETEA
Options:-

.1, Option ID :- 1133,
« 2, Option ID :- 1134,
. 3, Option ID :- 1135,

« 4, Option ID :- 1136,
Answer Given:- 3, Option ID : -1135

Question ID:- 285

Which of the following statements regarding the code of Hammurabi is correct ?

(i)  Penalties were extremely severe

(ii) Forgiveness and extenuated circumstances can mitigate the punishments

(i) When a man dies, his property is divided between his sons but his widow had the
privilege of using the fruits of his property

(iv) A man may divorce his wife without giving her anything if she misbehaved

Choose the correct answer from the code given below :

(1) (i) and (ii) only

(2) (i) and (iii) only
(3) (i), (i) and (iii) only
(4) @) (i), (i) and (iv)
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gyt a6 faft dfear & gl § & sE-w oF TE 28 2

(i) TUS TT HBR |

(i) &ERie Ud el qRRfTEl §U i %8 T Hehdl o |

(iii) o1& fordt g%y =1 Oy SR ot 1 STt geufa w1 fauTeH U P § 21 S o e STt
Tavre =1 39 9w & o & ST o1 YTEer o |

(iv) ohTE goW 79t Uit sl o o T ok & |kt o, afs o gediasr ol off a1

i fe@l 79 he Hl HEHdl ¥ W I 1 =AA hifAd

(1) Fad (i) 3R (i)

(2) ae (ii) 3R (iii)

(3) o (i), (i) 3T (i)

(4) (), (i), (i) 3R (iv)

Options:-

.1, Option ID :- 1137,
« 2, Option ID :- 1138,
. 3, Option ID :- 1139,

. 4, Option ID :- 1140,
Answer Given:- 3, Option ID : -1139

Question ID:- 286

Aramaic language became widely spoken in Mesopotamia after which of the following
time period ?
(1) 1400 BCE

(2) 1000 BCE
(3) 700 BCE
(4) 500 BCE

RYTEE o faga 9 9 BEefaa § g gl % 9 et S a2
(1) 1400 =413,

(2) 1000 . 3.

(3) 700 SELE.

(4) 500 SL.HLE.
Options:-

.1, Option ID :- 1141,
« 2, Option ID :- 1142,
. 3, Option ID :- 1143,

. 4, Option ID :- 1144,
Answer Given:- 3, Option ID : -1143

Question ID:- 287
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The year of 69 CE is known as a notorious year in the Roman history because :
(1) The empire suffered loss of huge territories in war

(2) Suffered huge loss in trade
(3) There was widespread loss of crops
(4) Four emperors mounted the throne in succession

T sfaemd # 69 2, 1 9% Uk A 98 o TG H S STa1 § i -
(1) HERE &l g5 § &g -9 =i &1fd g2 |

(2) =S YAM R wfH g |

(3) o2 UHM 9 Al Hi a1 g

(4) UH % WG Ueh WX A (HewEEg gy |
Options:-

.1, Option ID :- 1145,
« 2, Option ID :- 1146,
. 3, Option ID :- 1147,

. 4, Option ID :- 1148,
Answer Given:- 4, Option ID : -1148

Question ID:- 288

Which of the following centuries is known as the historical watershed between the early
and late phases of the Roman Empire ?

(1) Second century
) Third century
(3) Fourth century
) Fifth century

Freafafad § 9 A o vaes! gRffers 9 39 499 918ea & o9 4 Ufaefas s of 2
(1) Tt ot

(2) T T

(3) =g v

(4) HEH vl

Options:-

.1, Option ID :- 1149,
« 2, Option ID :- 1150,
. 3, Option ID :- 1151,

. 4, Option ID :- 1152,
Answer Given:- 3, Option ID : -1151

Question ID:- 289
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Mesopotamian language and script was adopted by several regions after 2000 BCE but
one of the following was not among them. Identify it :

(1) Turkey

(2) Egypt

(3) Northern Syria
(4) Turkmenia

HErerEa = 9 g fef 2000 s H E 6 ST *S qewi - gRI AR 5, 9t FreEfeted |
TS 37 IS TE 911 SHHT YT ST

(1) TH

(2) fow

(3) STl Hiftn

(4) gl
Options:-

.1, Option ID :- 1153,
« 2, Option ID :- 1154,
. 3, Option ID :- 1155,

« 4, Option ID :- 1156,
Answer Given:- 3, Option ID : -1155

Question ID:- 290

In how many stages the epic of Mahabharat was given the final form ?

(1) One stage
(2) Two stages
(3) Three stages
(4) Four stages

TEIYNA Heehed &l fohad =woi § s1fam =y fear man ?

(1) T&H =9
(2) @& =W
(3) i =
(4) ==

Options:-

.1, Option ID :- 1157,
« 2, Option ID :- 1158,
. 3, Option ID :- 1159,

. 4, Option ID :- 1160,
Answer Given:- 3, Option ID : -1159

Question ID:- 291
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Manuscripts in Sanskrit overwhelmingly come from which of the following regions ?
(1) South India

(2) Northern India

(3) Central India
(4)

4 Western India

Gepd uvgfafyar frefafea § ygea: frg d 9 foed &2

(1) < yiRd

(2) 3 UE

(3) WA 9RA

(4) ofe=E YR
Options:-

.1, Option ID :- 1161,
« 2, Option ID :- 1162,
. 3, Option ID :- 1163,

. 4, Option ID :- 1164,
Answer Given:- 2, Option ID : -1162

Question ID:- 292

Given below are two statements, one labelled as Assertion(A) and the other labelled as
Reason(R) :

Assertion(A) : A large number of urban settlements experienced decline during the early
medeival period.

Reason(R) : There was a decline in trade and economy in general.
In the context of the above two statements which of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false

(4)  (A) is false, but (R) is true

= g1 Fee few U ¥ 1 UH R R (A) IR THL I 0T (R) FHE TR
YA (A) : T8 HEHHRICH YR H el 1 9] G | g gl

HIUT (R) : W & 9 SA9R 9 SAdeqae] § g g3 |

3y S e & ded H frefafad § 3 @ W w2

(1) (A) 3 (R) SHT && & 2l (R), (A) = F&1 =2 §)

(2) (A) 3R (R) 3 ¥& &, R (R), (A) FT W& = 76

(3) (A) T g, fohg (R) o 71

(4) (A) e g, fFg (R) W@ 2

Options:-
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.1, Option ID :- 1165,
« 2, Option ID :- 1166,
. 3, Option ID :- 1167,

. 4, Option ID :- 1168,
Answer Given:- 1, Option ID : -1165

Question ID:- 293

Sultans ?

(1) Balban

) Alauddin Khalji

(3) Muhammad Bin Tughlaq
) Firuz Shah Tughlaq

Frefafad #§ 9 faeedt o ford Geram = fsier 3T Jaig i 9o gris 12
(1) wa=d

(2) SIATSEH Gersil

(3) Hewg foq ques

(4) TS 9@ gIoh
Options:-

.1, Option ID :- 1169,
« 2, Option ID :- 1170,
. 3, Option ID :- 1171,

. 4, Option ID :- 1172,
Answer Given:- 1, Option ID : -1169

The ceremonies of sijda and paibos were introduced by which of the following Delhi

Question ID:- 294
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Match List-I with List-II and select the correct answer from the code given below the
lists.

List-1 List-II

(Organisational framework (Role)
of sufi orders)
(a) Wilayat (i) Teacher
(b) Murid (ii) Spiritual territory
(c) Wali (iii) Disciple
(d) P (iv) A successor nominated by a Pir to carry out his
work

Code

i) @) @) 0
) O @ @

el - 11 Gl - 11§ GAferd sifae sik g o 1= faU 10 e | § el 302 1 =947 ity
T - 1 gt - 11

(gwt faefet @1 Heeares @) ( yfirerr)
(a) feretrr @) foreew
(b) Tig (i) smefors &
(c) @t (ii) Torsx
(d) TR (iv) TR e % fow, O gr AmitEd
SETEERT
e
(@ () (o ()
(D) (@) @v) @ @)
(2)  (v) (@) @) ()
(3) (@) (@) @) ()
(4) (@(v) () (@) (i)
Options:-

.1, Option ID :- 1173,
« 2, Option ID :- 1174,
. 3, Option ID :- 1175,

. 4, Option ID :- 1176,
Answer Given:- 2, Option ID : -1174

Question ID:- 295
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Which of the following scholar saints compose/write in Sanskrit ?

() Ramanuja
(i) Madhava
(i) Vallabha
(iv) Jnanesvara

Select the correct answer from the code given below :

(1) (i) (i) and (i)
(2) (i), (iii) and (iv)
(3) (i), (iii) and (iv)
@ ) G (i), (v)

Treferfaa § 9 fore fagm gdl 3 Sk 91 § =H1 1 2

(i) HES
(i) =&
(i) deeTy
(iv) FHEER
= fau TC he T H W I =TI HI
(1) (), (ii) SR (i)
(2) (i), (i) 3R (iv)
(3)  (0), (iii) 3 (iv)
(4) @), (i) (i), (iv)
Options:-

.1, Option ID :- 1177,
« 2, Option ID :- 1178,
. 3, Option ID :- 1179,

. 4, Option ID :- 1180,
Answer Given:- 3, Option ID : -1179

Question ID:- 296

Which one of the fo]lnwing was NOT the slave of Muizzuddin Muhammad Bin Sam

Muhammad of Ghur) ?
1) Qutbuddin Aibak

2

)

) Tajuddin Yalduz
3) Bakhtiyar Khalji
)

Malik Bahauddin Tughril

(
(
(
(3
(4

TELEGRAM - @TEACHINGEXAM

@ Teachingninja.in



Trafafad § | oF qgeH geme o 9m (e 7RI &1 e & o172

(1)
2

(2)
(3)
(4)

=

Options:-

.1, Option ID :- 1181,
« 2, Option ID :- 1182,
. 3, Option ID :- 1183,

« 4, Option ID :- 1184,
Answer Given:- 4, Option ID : -1184

FAIEEH T
IR Eersi
Hieeh SBISaaH e

Question ID:- 297

Which of the following statements are correct about the Sultanate wazir ?

(1)
(i)

(i)

(1v)
Select the correct answer from the code given below ;

During the early Sultanate period, the wazirs were primarily military leaders
In the fourteenth century, the wazir began to be considered more an expert in revenue

affairs

Khan-i Jahan, a converted Tailang Brahman, was choosen by Firuz Tughlaq as his
wazir
Khan-i Jahan-II played the role of king-maker after the death of Firuz Shah Tughlaq

(i) and (ii) only
i) and

(i) and (i
(i) and (iv) only
(1), (i), (i), (iv)

iii) only

oedd o Joii s Hed O 7 0 8§ & § e e g ?

() WRFYF Geaea i § Feiv geTa: 99 9gE o |

(i) =ced ITeal § oY el USTe STl S faures /T S o |

(i) @F-T S&M, T yHufafdd e sEw, s s qremss 5 91 5y o=@ |

(iv) WHA-U seA T 3 s oie qrers ) 9oy & Sue famie (Ten fafan) =61 yfge
3731 I |

i feu T e H 9 W IR A FFA Hif9

(1) Fad (i) 3R (ii)

(2) SE (i) AR (i)

(3) ohad (i) 3R (iv)

(4) (@), (i), (i), (iv)

Options:-

.1, Option ID :- 1185,
« 2, Option ID :- 1186,

TELEGRAM - @TEACHINGEXAM

@ Teachingninja.in



. 3, Option ID :- 1187,

. 4, Option ID :- 1188,
Answer Given:- 3, Option ID : -1187

Question ID:- 298

Which of the following Afghans sided with Rana Sanga in the battle of Khanwa ?
(i) Mahmud Lodi
(i) Hasan Khan Mewati
(1) Nasir Khan Lohani
(iv) Daulat Khan Lodi
Select the correct answer from the code given below :
(1) (1), (iii) and (iv)
(2) (i), (iii) and (iv)
(3) ()and (i)
)

(4) (i) and (iii)

@l & gg |, Frefafed § § wF 9 AFTH e Qo | 6w qifad gu o ?
(i) wEHs wEl

(i) B9 @H Hardl
(ifi) TER @ e
(iv) <o @E AR
= feu U e H W W I N = FIfA
(1) (), (i) 3 (iv)
(2) (i), (i) 3T (iv)
(3) () 3 (ii)
(4) (i) 3 (i)
Options:-

.1, Option ID :- 1189,
« 2, Option ID :- 1190,
. 3, Option ID :- 1191,

. 4, Option ID :- 1192,
Answer Given:- 4, Option ID : -1192

Question ID:- 299

Which of the following roads was NOT constructed/repaired by Sher Shah ?
(1) Grand Trunk road from Indus to Sonargaon

(2) Road from Agra to Jodhpur and Chittor

(3) Lahore to Multan

(4) Multan to Sind linking the road to the sea ports of Sind
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Frefafad § § 1 9 gew-qni &1 Fmi/maed See g T8l S 0 ot ?
(1) fdy F FrweTa 9 e 3% I

(2) S 9 S &R fade 9% # gsE

(3) RER Y H=H

(4) &9 % EEaTAl &l Siredl 9o § 549 9% 9s@
Options:-

.1, Option ID :- 1193,

« 2, Option ID

« 4, Option ID

- 1194,
« 3, Option ID :-

1195,

- 1196,

Answer Given:- 3, Option ID : -1195

Question ID:- 300

Match List-I with List-Il and select the correct answer from the code given below the

List-1 List-11
(Authors) (Persian Texts)

(a) Gulbadan Begum (i) Igbalnama-i Jahangiri
(b) Mutamad Khan (ii) Maasir-i Alamgiri
(c) Saqgi Mustaid Khan (iii) Padshahnama
(d) Qazwini (iv) Humayun Nama
Code

@@ () ( (@
H @ @ Gv) (@)
(2) (@) (@v) (@) (1)
@ ) @ @ (i
4 () (D) @ @
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et - 1 =1 ot - 1 9 gafed sifse sin gf=di & = fou 1 e § 9 9@ 3ot =1 =

FHifeT
-1 it - 11

(@ ) (Rt Ter)
(a) EEEA STH ()  THACEHTH-T SEETRI
(b) HaHE @H (i) HATER-T AT
(c) WWRI HE&IQ @F (i) ORI
(d) Tl (iv) ZHTLAE
e :

(@ () (9 (d)

() @ @ @v) ()

(2) () @Gv) @ (i)

3) (@v) @ @) (i)

(4) (v) (@) @) @
Options:-

.1, Option ID :- 1197,
« 2, Option ID :- 1198,
. 3, Option ID :- 1199,

. 4, Option ID :- 1200,
Answer Given:- 4, Option ID : -1200

Question ID:- 301

Consider the following statements :

(i)  After performing his moming devotions he (Akbar) showed himself from a window
on the first floor of the palace

(i) A large crowd of all classes of people assembled outside the palace wall and could
submit their petitions to the emperor
(i) The practice was known as Jharokha darshan

(iv) Some Hindus neither drank nor ate until they had seen the emperor. They were
known as Darshaniyas

Select the correct answer from the code given below :
(1)  (iii) and (iv) only

(2) (i) and (i) only

(3) (i), (ii) and (iii) only

(4) () (1), (i), (iv)
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Teferfad sweai a3 faar Hifs

(i) g i 11 eiftier foRanadi o1 §9=1 T3 o S 98 (STRe) ST9H Hed & Yadl Hisie
=i fasst & == S ani

) @t ol % A H S st Suh Hew F AR % S U Al ot Sl et erstl/
forhmrd STewE T Yga e o |

(iil) & 9T SN T Feard! of |

(iv) %o feg 79 7% F® -1 781 9 5@ 7% 3 FI59E % o3F Te1 # ofd 9| 3% e
STl o1 |

= fou T e H W ST H T R ;

(1) FFe (iii) 3R (iv)

(2) (u)dih )

(3) A (i), (i) I (iid)

(4) (i), (i), (i), (iv)

Options:-

.1, Option ID :- 1201,
. 2, Option ID :- 1202,
« 3, Option ID :- 1203,
« 4, Option ID :- 1204,

Answer

Given:- 3, Option ID : -1203

Question ID:- 302

Consider the following statements :
Statement-I: A whole body of literature, known as Akhlaq (etiquette) grew up in

Statement-II : Akhalag-i Jahangiri was the first major work on etiquette compiled under

Select the correct answer from the code given below :

(1)

I

(2)
(3)
(4)

oy

medieval Iran and India. Akhalag-i Nasiri of Nasir al-Din Tusi was an
[ranian work written in the first half of the thirteenth century.

the Mughals by Nur al-Din Qazi al-Khagani.

Statement-I is true, but Statement-1I is false
Statement-I is false, but Statement-II is true
Both Statements I and II are true
Both Statements 1 and II are false
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Frreferfaa weai v fomm #ifs

T - 1:  TEHHE 207 3R wRa H, Tieed i v of faun, s staes (frersn) weard
off, faepfad gg1 wedl vt F yom qaisg ¥, v wRE erEE i sre-dH g
HGAFT TG 1 A A TR

HUT - 11 : el F YEAHA H T HA-SH FIol AA-QrH g1 Frer=m 7w gun gy
T, FGAH-T TR, Hehfera faFan T

== feu 70 s H § W& ST A FFA BT

(1) HIA-19E B, Toheg FYA - 117760 2

(2) - 17T 8, fop] hYA - I HET B

(3) wheA - I &R 11 SHT &l § |

(4) <HUT-1 3R I 4 Terd )

Options:-

.1, Option ID :- 1205,
« 2, Option ID :- 1206,
. 3, Option ID :- 1207,

« 4, Option ID :- 1208,
Answer Given:- 1, Option ID : -1205

Question ID:- 303

Which of the following classical works on music was translated into Persian during Firuz
Shah Tughlaq's reign ?
(1) Sangitasiromani

(2) Sangitaratnakara
(3) Man Kautuhal
(4) Ragadarpan

ToRIst SITE qTersh & e |, Fefafead § 8 9ifia & g senfasa (srsia) 1o &1 erang
R et § feman e ?

(1)  ErafeRm

(2) WTaETERT

(3) WM higed

(4) TR
Options:-

.1, Option ID :- 1209,
« 2, Option ID :- 1210,
. 3, Option ID :- 1211,

« 4, Option ID :- 1212,
Answer Given:- 2, Option ID : -1210

Question ID:- 304
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Which of the following jagirs under the Mughals were held hereditary and permanent by
the nobles ?

(i) Tankhwah jagir

(1) Watan jagir

(iii) Altun Tamgha jagir

Select the correct answer from the code given below :
(1) () and (i)

(2) (i) and (i)
(3) (i) and (iii)
(4) (1), (i), (i)

et & wrge H, Frefafad § @ @ St i o S ud o 9§ e Sy o 2
(i) TEEE SR

(i) & S
(iif)  STERT T S
== feu v T H 4 W& I =TI HIfC
(1) () W (i)
(2) (i) SR (ii)
(3) (i) #R (i)
(4) (), (i), (i)
Options:-

.1, Option ID :- 1213,
« 2, Option ID :- 1214,
. 3, Option ID :- 1215,

. 4, Option ID :- 1216,
Answer Given:- 2, Option ID : -1214

Question ID:- 305

Which of the following ranks and the titles of the Mansab holders is NOT correctly matched ?

Rank (Mansab) Title
(1) Below 100 zat Ahadis
(2) Below 500 zat (Ordinary) mansabdar
(3) 500 to 2500 zat Amirs
(4) Above 2500 zat Amir<i Umda
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Frefafed 8 9 i 9 el 2R graernl s snfml ge gafead ==& €2

g (H9Ed ) Sarfer
(1) 100 S o = S
(2) 500 S * = - ("HFI) HAHEER
(3) 500 H 2500 S - FER
(4) 2500 S H FHR - evdRu s
Options:-

.1, Option ID :- 1217,
« 2, Option ID :- 1218,
. 3, Option ID :- 1219,

« 4, Option ID :- 1220,
Answer Given:- 1, Option ID : -1217

Question ID:- 306

In 1580 which of the following system was introduced by Akbar in the land revenue ?

(1) Dahsala

(2) Karori experiment
(3) Kankut

(4) Nasaq

1580 H, frefafad o 5, 9-Tsea &1 &l Hl S siehar g7 AR i T8 7

(1) <&HEl
(2) HUS FEN
(3) A
(4) HEH
Options:-

.1, Option ID :- 1221,
« 2, Option ID :- 1222,
. 3, Option ID :- 1223,

. 4, Option ID :- 1224,
Answer Given:- 1, Option ID : -1221

Question ID:- 307
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Match List-I with List-II and select the correct answer from the code given below the

List-1
(Revenue Term)
(a) Jamadami

(b) Hal-i Hasil
(¢) Takhfif<i Dami
(d) Mal-o-jihat

Code :

(@ ) (¢ (d)
(1) @) @Gv) @ @
(2) Gv) @) @) @
(3 @ (@ (@v) (i)
(49 @v) (@) (@) ()

el - 1 1 Geil - 11§ gafod #ifee ) afeal & = e 70 e & 9 98 sor 61 =99

HIfAT :
T - 1

(ST yregTEe )
(a) SPREHT
(b) BE-T e
(c) TEHFH-T e
(d) wre--ferm
<

(@ @) (© ()
(1) @) @v) @ @)
(2)  (v) (@) @) ()
(3) @@ @ (@v) (i)
(4) @v) @ (@) (i)
Options:-

.1, Option ID :- 1225,
« 2, Option ID :- 1226,
. 3, Option ID :- 1227,

. 4, Option ID :- 1228,
Answer Given:- 4, Option ID : -1228

List-1I
(Meaning)

(i) Reduction allowed to a jagirdar in case of below
expectation revenue collection

Land revenue and other taxes

S s
e
S

(iti) Estimated Revenue
(iv) Actual revenue collection

el - 11
(=1ef)

@)  emnH e oS i g W STRGR i g2 <
(ii) 9| T T 3T HY
(i) STTAT Tsie

(iv) STEfae TSTEE HUE

Question ID:- 308
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Consider the following statements :
(i)  Muhammad al-Shafi'i, founder of the Shafi’i system of jurisprudence, was a Quraysh
(i) His teacher was Malik bin Anas at Medina

(iii) He formulated his own ideas on the basis of and in opposition to the teachings of
Malik, Abu Hanifa and Al-Shaybani

Select the correct answer from the code given below :
(1) (i) and (ii) only

(2) (i) and (iii) only

(3) (i) and (iii) only

(4) (@) (i), (1)

Frreferfad oAl w fomm Hif

(i) HEHHE -, TafERre 1 TRE WO o GErdes, U 9 9

(i) HSHT H 7k foreres wferes fom o9 9

(i) feTer, 219 B iR ore-FerT &1 foenedi & favg it 37 oIuR T 3289 @ % faem

gfaurfea fa)
== fou Tt s H 9 TWE I A I HIfU
(1) heret (i) & (ii
(2) HEe (i) AR (iii)
(3) e (i) S (iii)
(4) (@), (i), (iii)
Options:-

.1, Option ID :- 1229,
. 2, Option ID :- 1230,
. 3, Option ID :- 1231,

« 4, Option ID :- 1232,
Answer Given:- 3, Option ID : -1231

Question ID:- 309

The tradition of authentication of Hadis through chain of narrators was known as :

(1) Nahda
(2) Isnad
(3) Thsan
(4) Awarif
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BAE ! IUHERAISA! (narrators) Tl @ o BRI AU i skl GO Haardl o ?

(1) ==
(2) =HE
(3) FEH
(4) TR
Options:-

.1, Option ID :- 1233,
« 2, Option ID :- 1234,
« 3, Option ID :- 1235,

« 4, Option ID :- 1236,
Answer Given:- 2, Option ID : -1234

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

Question ID:- 310

Who were Bedouins ?

e oA A2

Options:-

.1, Option ID :- 1237,
« 2, Option ID :- 1238,
. 3, Option ID :- 1239,

- 4, Option ID :- 1240,
Answer Given:- 4, Option ID : -1240

Military commanders
Horse-traders
Camel-nomads

Settled agriculturalists

F=1 Afererd
oSl & SR
I @A
I Fu

(D)
2
(3)
(4)

Question ID:- 311

The chiefs of the Mongol Dada Ulus traced their descent from which of the following
Khagan (Qa-an) ?

Qublai
Ogedei
Chaghatai
Qara Khitai
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el 211 S % Hellelg Tl 319 991 1 Gaiu oy @ee 4 Sied €2
(1) FIR

(2) eireg
(3) R
(4) o faag
Options:-

.1, Option ID :- 1241,
« 2, Option ID :- 1242,
. 3, Option ID :- 1243,

« 4, Option ID :- 1244,
Answer Given:- 3, Option ID : -1243

Question ID:- 312

Consider the following statements :
(i)  The Scythians were creators of animal art
(ii) The Scythian art had influenced the Assyrian natural art

(i) In contrast to Assyrian art, which flourished on the walls of the palace, Scythian art
was the culture of nomadic life

Select the correct answer from the code given below :

(1) (i) and (iii) only

(2) (i) and (iii) only

(3) () and (11 ) only

(4) () (i), (i
freferfaa wei T faem Fife -

(i) it gy faam o gt 9
(i) Hifera Fasmren 3 S urfaer faseren © qurE ore|
(iii) IR feseren =1 ger §, S Heel 61 el W Fel-tell, Hifdad fasremean armeeel

% Sffer 1 Gepla off
== fou U s H § WE ST &l I HIfU :
(1) e (i) R (iii)
) Fae (i) AR (iii)
(3) e (i) ¥ (i)
(4 (), (i), (i)
Options:-

.1, Option ID :- 1245,
« 2, Option ID :- 1246,
. 3, Option ID :- 1247,

« 4, Option ID :- 1248,
Answer Given:- 4, Option ID : -1248
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Question ID:- 313

The island of Bombay was acquired by the English East India Company in 1668 from ?
(1) Maratha

(2) Mughal
(3) Portuguese
(4) French

FrayE 1 2 1668 H 3w sw sfrem wet 3 forud wifae formn 2

(1) TS 9 9

(2) A IMEHR H

(3) gamfeEl |

(4) wwiETEA 9
Options:-

.1, Option ID :- 1249,
« 2, Option ID :- 1250,
. 3, Option ID :- 1251,

« 4, Option ID :- 1252,
Answer Given:- 3, Option ID : -1251

Question ID:- 314

Ryotwari Settlement was introduced in the :
(1) Bengal and Bihar region

(2) Central India and Punjab
(3) South and Seuth Western India
(4) Gangetic Valley and North-West Frontier provinces

IAETE] e el ] g o912

(1) e us feor 44

(2) H¥A A a9 g5E o

(3) afeur e Sfgu-afves 9 |

(4) M ETE UE SR it Hidia wid J
Options:-

.1, Option ID :- 1253,

« 2, Option ID :- 1254,

. 3, Option ID :- 1255,

« 4, Option ID :- 1256,
Answer Given:- 3, Option ID : -1255

Question ID:- 315
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Who was the last subedar of Bengal appointed by the Mughal emperor ?
(1) Alivardi Khan

(2) Sarfaraz Khan

(3) Murshid Quli Khan

(4) Shujauddin Mohammad Khan

AT YMER g1 e S 1 SAf=<H GeigR i o1 ?
(1) oFfael @m

(2) HEUS @

(3) Hftk Fel @H

(4) YEEEA HieHE @H

Options:-

.1, Option ID :- 1257,

« 2, Option ID :- 1258,

. 3, Option ID :- 1259,

« 4, Option ID :- 1260,
Answer Given:- 3, Option ID : -1259

Question ID:- 316

Match List-I with List-II and select the correct answer from the code given below :

List-I List-1I
(Author) (Work)
(a) Surendranath Banerjea (i)  History of the Brahmio Samaj
(b) Maj. Gen. Shahnawaj Khan (i) India Old and New
(c) Sir Valentine Chirol (iii) My Memories of LN.A and Its Netaji
(d) Sivanath Sastri (iv) A Nation in Making
Code
(@ @) (9 @
1) Gv) @) @ @
(2 @@ (@) @ ()
3 O @ @ (@)
4) () @ (v) (i)
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el - 11 it - 11 < 919 YHferd shifere a9 =i fSU 7 e ot SeEdl 9 Wl S < 99 i ;

gHr- 1 g - 11

(orE@® ) ()
(a) GiETe At () [ew=d o © arvel wHe
(b) HSR-SMH. IEAATS @H (i) gfeam siee Tg =
(c) ¥R Feiergd fada (iii) B ST S 3% TL.U. U 529 Farsi
(d) T g (iv) & 97 7 HfET
he :

@@ () (9 (d
(1) (v) @) @) @
(2) @ Gv) @ (i)
() @ (@) @@ @
(4) (@) @ (Gv) (i)
Options:-

.1, Option ID :- 1261,
« 2, Option ID :- 1262,
. 3, Option ID :- 1263,

. 4, Option ID :- 1264,
Answer Given:- 1, Option ID : -1261

Question ID:- 317

The English East India Company got Diwani Rights from Emperor Shah Alam-II on which
of the following dates ?

(1) 30 January 1765
(2) 17 March 1765

(3) 12 August 1765
(4) 5 February 1766

Trerfafad § 4 $rad fafy 1 Sfem S efrgan sa 1 g a1 fadia 9 Sart &1 safasr
T g1/

(1) 30 SFeRt 1765

(2) 17 |6 1765

(3) 12 3FTE 1765

(4) 5 HIERT 1766
Options:-

.1, Option ID :- 1265,
« 2, Option ID :- 1266,
. 3, Option ID :- 1267,

« 4, Option ID :- 1268,
Answer Given:- 3, Option ID : -1267
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Question ID:- 318

Who was defeated in the Battle of Wandiwash and by whom on 22 January 1760 ?
(1) The British forces by the French

(2) The Portuguese forces by the British

(3) The French forces by the British

(4) The Dutch forces by the British

22 SERT 1760 =1 SIS & g5 H from feraent gomm 2

(1) fafes wre = i =
(2) geet s el fafew A
(3) eI wIe w6t fafew 5
(4) =9 % # fafewr A
Options:-

.1, Option ID :- 1269,
« 2, Option ID :- 1270,
. 3, Option ID :- 1271,

« 4, Option ID :- 1272,
Answer Given:- 1, Option ID : -1269

Question ID:- 319

The capital of Sikh power under Maharaja Ranjit Singh was :
(1) Patiala

(2) Lahore
(3) Kapoorthala
(4) Faridkot

TRRIST 0TS T8 o IMEehe o FoRg 9 oht TSI of ¢

(1) ufedme
(2) wwR
(3) YA
(4) THEOEHRE
Options:-

.1, Option ID :- 1273,
« 2, Option ID :- 1274,
« 3, Option ID :- 1275,

« 4, Option ID :- 1276,
Answer Given:- 2, Option ID : -1274

Question ID:- 320
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The practice of sati in India was abolished by :
(1) Lord Clive

(2) Lord William Bentinck

(3) Lord Cornwallis

(4) Lord Dufferin

gIed § 9ol ven 1 37 e § | T fora 2

(1) € el

(2) e faferm Sféw

(3) e HEATAH

(4) e THRA
Options:-

.1, Option ID :- 1277,
« 2, Option ID :- 1278,
. 3, Option ID :- 1279,

. 4, Option ID :- 1280,
Answer Given:- 2, Option ID : -1278

Question ID:- 321

Who among the following is known for suppression of thugs in India ?
(1) Robert Bingley

(2) Capt. Sleeman

(3) Col. Todd

(4) Lord Lake

= g 9 yra | 3 R g H &1 99 fRg S e ?

(1) T@e &

(2) FeA TAEA

(3) A S

(4) o€ @&
Options:-

.1, Option ID :- 1281,
. 2, Option ID :- 1282,
. 3, Option ID :- 1283,

. 4, Option ID :- 1284,
Answer Given:- 2, Option ID : -1282

Question ID:- 322
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Tipu Sultan was defeated and killed in which one of the following battles ?
(1) 1% Carnatic War

2) 15t Anglo-Mysore War
& Y

3 4t Anelo-Mysore War

( glo-My

(4) 34 Anglo-Mysore War

Tefafad 9 9 feg Zg # 219 gea 1 81 9 9 1 JHAT il 921 2
(1) 999 FAiew g3

(2) g Urel-Tg g5

(3) = TE-HER g5

(4) e T s

Options:-

.1, Option ID :- 1285,

« 2, Option ID :- 1286,

. 3, Option ID :- 1287,

. 4, Option ID :- 1288,
Answer Given:- 3, Option ID : -1287

=

Question ID:- 323

Given below are two statements, one labelled as Assertion(A) and the other labelled as

Reason(R) :

Assertion(A) : Indian indentured system was introduced in 1834 to recruit labourers to
work on contract on sugarcane plantations in British Colonies.

Reason(R) : The purpose of introduction of indentured system was to provide relief
from poverty and famines in 19" century India.

In the context of the above two statements which of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false
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=y <1 T fgd M €1 ek 1 R (A) IR G I SHINOT (R) FeE T

A (A) : YA | AFEHd TGl (indentured) SEE 1 U 1834 H foran o fowes w'a
fafew suferet | 7= arHl 5 wRa | weiet ol fmd = 9 |

SHROT (R) : STSTHA HSigll STae il 9Rd 3 & &34 o1 aredd 1981 Hal § 247 s7ahrell § difed
Tl Rl e faet & o |

YU Al aaasl o Heul # Frefafad § 9 S |l 7 2

(1) (A) &t (R) S T8t € &R (R), (A) = =& =men ')

(2) (A) S (R) EHT @ E, SfFA (R), (A) i TE =T TE B

(3) (A) @&l € @feha (R) TTeTd B 1

(4) (A) 3R (R) aHI TTed €|

Options:-

.1, Option ID :- 1289,

« 2, Option ID :- 1290,

. 3, Option ID :- 1291,

. 4, Option ID :- 1292,
Answer Given:- 3, Option ID : -1291

Question ID:- 324

Match List-I with List-II and select the correct answer from the code given below :

List-I List-I1
(Author) (Work)
(a) Ramachandra Guha (i)  Gandhi's Truth
(b)  Bhikhu Parekh (il) ~ Gandhi’s Religious Thought
(c) Margaret Chatterjee (iti)  Gandhi’s Political Philosophy
(d) Erik H. Erikson (iv) Gandhi Before India
Code : |
(@ @) (9 @
1) Gv) @ (@) (@)
(2 @) @) @ @
3 O @ @) @
4) @ @ (v) (i)
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el - 11 it - 1 < 919 YHferd shifSie a9 =i iU 78 e ot Temdl § T& St il =97 i :

g - 1
(@ )
THEE Tl

Tt - 11

(9e)

oy

K=
e . i ®

—

=

o —

(
(.
(3
(4
Options:-

.1, Option ID
« 2, Option ID
. 3, Option ID

. 4, Option ID
Answer Given

- 1293,

:- 1294,
:- 1295,
:- 1296,

:- 2, Option ID :

(d)

S —
E: O 1
P S
S

-1294

Question ID:- 325

Match List-I with List-II and select the correct answer from the code given below :

List-I
(Authors)
) Maulana Abul Kalam Azad
(b) Dada Bhai Naoroji
(c) Bal Gangadhar Tilak
(d) Mahatma Gandhi

List-1I
(Books)
(i) Hind Swaraj
(i) India Wins Freedom
(iii) Poverty and Unbritish Rule in India

(@ () (9 ()
1) ) @) @) @
2 @ @ () ()
®) (v) @ () (i)
(4) (@) @ @ @)

(iv) Arctic Home of the Aryans
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et - 11 ot - 11 § YHferd Sifsd @K e fed 7 ohe 9 98 S 1 =97 Fhifsd
T - 1 gt - 11
(@ ) (& )

(a) WA HgA HaH AR (1) fom TS

(b)  TTRTHTE S () sfean fow wiew

(c) @re TR faaes (i) TERl e sAfafen w & 3 sfuem

(d) HETeHT MiEd (iv) 3ATFhR{H B HATH & ST

@@ () (o9 (d)
() @) @) @) @
2 @ @ @) @)
®) @v) @ @) (i)
4 (@) @ @O (@)

Options:-

.1, Option ID :- 1297,
« 2, Option ID :- 1298,
. 3, Option ID :- 1299,

« 4, Option ID :- 1300,
Answer Given:- 1, Option ID : -1297

Question ID:- 326

Which among the following were parallel but NOT alternative streams of agitation ?
(i) The Ghadar Movement

(i) The Civil Disobedience Movement

(i) The Indian National Army

(iv) The Royal Indian Navy Revolt

Choose the correct answer from the code given below :

(1) (i) and (ii) only

(2) (i), (iii) and (iv) only

(3) (ii) and (iv) only

(4) (i), (iif) and (iv) only
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frafafead § ¥ #19 9 gaie & W S sidem &l arE & off ?
(i) T e

(i) Hfera T SR

(iii) WRAE T HAT

(iv) el WRErE A e

= feu Tu ke © | Wi I g :

(1) =here (i) O (ii)

(2) RE (i), (iid) 9T (iv)

(3) K9 (ii) T (iv)

(4)  HaA (id), (i) TAT (iv)
Options:-

.1, Option ID :- 1301,
« 2, Option ID :- 1302,
. 3, Option ID :- 1303,

« 4, Option ID :- 1304,
Answer Given:- 4, Option ID : -1304

Question ID:- 327

Chronologically arrange the following social legislations on the basis of their enactment :
(i) India ActV, that declared slavery to be illegal in India

(i) The Act XXXL opened inheritance to Christian converts

(iii) Regulation VI, which declared child sacrifice to be a murder

(iv) Regulation XVII, that declared Sati to be illegal in Bengal Presidency

Choose the correct answer from the code given below :

(1) (), Gv), @), (@)

(@ ), (), Gi), i
(3) (@) (i), (iv), @)
(4) (i), (i), Gv), ()

Trefafag arafee fufami 1 37 @r] 8F & HHUR R FThHHRE Hafeerd HIg
() Efew R v fawa ara H et #t gen 1 ek i fom

(i) T XXXI TS 39 yvufiaden o fore fawma = gaum fean

(iii) fafrem vI fagd a=i 1 afa &1 gen =it fw T

(iv) fafrem xvi foad ame SfaSet § =t gon & epre =i o

= feu U ke T W WEl I A G Hifo

(1) (i), (iv), (i), (i)

(2) (i), (i), (i), (i)

(3) (1) (i), (iv), (i)

(4) (i), (i), (iv), (i)
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Options:-

.1, Option ID :- 1305,
« 2, Option ID :- 1306,
. 3, Option ID :- 1307,

. 4, Option ID :- 1308,
Answer Given:- 2, Option ID : -1306

Question ID:- 328

Given below are two statements, one labelled as Assertion(A) and the other labelled as

Reason(R) :

Assertion(A) : The Fort William College started in 1800 was aimed at training ‘writers’
and ‘cadets’ for East India Company’s employment.

Reason(R) : Sir William Jones’s primary aim at studying Sanskrit studies was to create
a Digest of Hindu Law for judiciary.

In the context of the above two statements, which of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

freferfad S #eF €1 TF 1 ®9F (A) T 5L 1 ShROT (R) el T T

HeM (A) : T 1800 H URY 3T W faferam wiers ol 3eevd $2 sfean &t & Ui & fog
“orae ! dar Fee ! o1 ufieTor S o |

WHROT (R) : W fafeag S0 &1 956 & 207 %1 T9E 3qevd =adias 4 fag & =
YR-GYg = HLAT &

SwF FeFl & Heo § frfeifiga § & oW T wd 27

(1) (A) 991 (R) SF1 T& € @1 (A) &1 TEl ST (R) B

(2) (A) 91 (R) &1 W@ €, Toreg (A) o1 T TR0 (R) T €

(3) (A) m& %, fFg (R) T B

(4) (A) T B, T (R) &1 ©

Options:-

.1, Option ID :- 1309,

« 2, Option ID :- 1310,

. 3, Option ID :- 1311,

. 4, Option ID :- 1312,
Answer Given:- 3, Option ID : -1311

Question ID:- 329
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From among the follow'mg statements regardjng economic criﬁque of colonialism which
one are correct ?

(i)  The British attributed the rapid construction of rail roads as a proof of India’s
prosperity

(i) For nationalists, a negative impact on indigenous industries represented India’s
under-development of economy

(iii) The nationalists emphasized that while expenditure served British imperial needs, it
also brought consequent prosperity

(iv) Not until 1905, did the Drain theory form part of the Indian National Congress
Agenda

Choose the correct answer from the code given below :
(1) (i) and (iii) only

(2) (i), (iii) and (iv) only

(3) (ii) and (iv) only

(4) (i) and (iv) only

UMIvETE &t 2N s Hafd Feafafag § 9 @ 91 w27 W 8 2

(i) SIS A e Tfd | Yo g2l o il YRGS IasH s TH S8 |

(i) Trganfedl & AR, el SErl W g TR WA, SR shi sfaniaa ieferawen
eI T T

(i) Trszenfed = we fean o Fafy = fafey qrea Y srweg saygsmsast § gems o fag
T haEy ggfg ot g |

(iv) §1905 % gl ok o= fenrdt o1 fegi st gz i =t shriget o fewm =@ o

4 fou U e | F TE I FH gAE FIT

1) hEd (i) 991 (iii)

Options:-

.1, Option ID :- 1313,
« 2, Option ID :- 1314,
. 3, Option ID :- 1315,

« 4, Option ID :- 1316,
Answer Given:- 4, Option ID : -1316

Question ID:- 330
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Chronologically arrange the following organizations from their date of establishment.
(i  All India Trade Union Congress (AITUC)

(i) Indian National Trade Union Congress (INTUC)

(1ii) Independent Labour Party of India (Dr. B.R. Ambedkar)

(iv) Hindustan Socialist Republican Association

Choose the correct answer from the code given below :

(1) (), @), (i), @)

(2) () (i), (iv), (i)
(3) (i), (iv), (i), (i)
(4) (@), (), (i), @)

Frefeafad wreHt @ 7% wnfid 89 =1 il § Feshaar srafier Fife
(i) SIfEd IR Aeigt €9 HUE (AITUC)

(i) R T TGt HY H1U9 (INTUC)

(iii) YRA W65 HegL T (S, SN SFEEEl)

(iv) TEg&m wursEmE TuditEr |9

Trefafa e o 9 W@ 3T 1 g8 FHR

(1) (i), (iv), (i), (i)

(2) () (i), (i), (i1)

(3) (i), (iv), (1), (i)

(4) (1), (iv), (i), (i)
Options:-

.1, Option ID :- 1317,
« 2, Option ID :- 1318,
. 3, Option ID :- 1319,

. 4, Option ID :- 1320,
Answer Given:- 4, Option ID : -1320

Question ID:- 331

Under the intense pressure of Chaing Kai-Shek’s forces, in which year Mao Zedong led
“The Long March’ of the communist brigade ?

(1) January 1927
(2) November 1929
(3) October 1934
(4) June 1936
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T FHE-IF K WA F g g °, Wil f5em A ey ad § greere; anfet & wm aE @
g T ?

(1)  SFet 1927

(2) & 1929

(3) aTERER 1934

(4) S 1936
Options:-

.1, Option ID :- 1321,
. 2, Option ID :- 1322,
. 3, Option ID :- 1323,

« 4, Option ID :- 1324,
Answer Given:- 1, Option ID : -1321

Question ID:- 332

In which year Chaing Kai-Shek broke the Communists and sent the Russian advisors
back ?

(1) 1925
(2) 1927
(3) 1931
(4) 1934

forg = H =1 -9k 3 greaifedl ) faafed v w6 qsiemnst «i amay 9e?

(1) 1925
(2) 1927
(3) 1931
(4) 1934
Options:-

.1, Option ID :- 1325,
« 2, Option ID :- 1326,
. 3, Option ID :- 1327,

. 4, Option ID :- 1328,
Answer Given:- 3, Option ID : -1327

Question ID:- 333

Under Meiji Restoration, who became the first Prime Minister of Japan and also drafted
Japan's Meiji Constitution ?

(1) Ito Hirobumi

(2) Saigo Takamori

(3) Tagaki Taisuke

(4) Okubo Toshimichi
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Tft T T H, Forgs S 3 Ssft wfas o gy AR R SR S w1 ge GUEEst 562

(1) =1 &

(2) S AR

(3) MR AEHH

(4) e arffeE
Options:-

.1, Option ID :- 1329,
« 2, Option ID :- 1330,
. 3, Option ID :- 1331,

« 4, Option ID :- 1332,
Answer Given:- 3, Option ID : -1331

Question ID:- 334

Which one of the following did NOT constitute the lowest segment of the feudal society in
Europe ?

(1) The Free-holders

(2) The Villeins
(3) Serfs
(4) Traders

Frefafed § § ®F o1 09 & grdqare gars & g9y = g @ fewm =8 o1?
(1) 9ol =i ol @

(2) fafes= (Villeins)
(3) HAIEH (Serf)
(4) =R

Options:-

.1, Option ID :- 1333,
« 2, Option ID :- 1334,
« 3, Option ID :- 1335,

« 4, Option ID :- 1336,
Answer Given:- 2, Option ID : -1334

Question ID:- 335

Which one of the following was NOT a cause for the decline of feudalism in Europe ?
(1) The Black Death - a devastating plague which spread over most of Europe

(2) The emergence of new economic patterns
(3)

(

4)  The rise of absolute monarchies

Increase in the prices of food stuffs due to the improvement in production

TELEGRAM - @TEACHINGEXAM

@ Teachingninja.in



Trefafad | § [ 9, U9 H GHTEE % Id9 1 HR0 T o1 ?
(1) =hTell 9eg (Soteh B91) - U fa-merenil it il 33 o sAfersmier smn § St 7am o)

(2) % 3fies Aifeadl a1 3w

(3) SIS &HA H GUR S R0 T YS! i hiHdl 1 S |
(4) THzw TSl % 38q |

Options:-

.1, Option ID :- 1337,
« 2, Option ID :- 1338,
. 3, Option ID :- 1339,

« 4, Option ID :- 1340,
Answer Given:- 2, Option ID : -1338

Question ID:- 336

During the second World War what kind of programme Japan initiated to acquire raw
materials from other states ?

(1) Concluded treaties with British Indian State

(2) Started ‘Greater East Asia Co-prosperity Sphere’ Programme
(3) Concluded treaty with Burma and Australia
(4)

4 Initiated mutual exchange of raw-materials with Indo-China

fadra fava-gs & <, SO T 9 o= 9Tel 9 i o fore STam 3 foFg 9l o1 SRl I
e 2

(1) R = ffew v | 9fH 1)

2) ‘= e ui ve-ugfs &’ wewme e fwan

(3) =i qul S % He HiE |

(4) FS-TEA & WY F G F IR SARA-YEE I fHa

Options:-

.1, Option ID :- 1341,
« 2, Option ID :- 1342,
. 3, Option ID :- 1343,

. 4, Option ID :- 1344,
Answer Given:- 4, Option ID : -1344

Question ID:- 337
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Which one of the following statements is not correct ?
(1) The Anglo-Japanese Alliance concluded in January 1902 recognized Japan’s
dominant interests in Korea

(2)  Britain’s alliance with Japan was seen as a means of containing Russian expansion
in Manchuria

(3) Russian occupation of Manchuria after the Boxer Rebellion was perceived by Japan
as a prospective threat

(4) Japan received informal support from Russia’s allies - France and Germany, to be
aggressive against Russia

Frefafead § | F 1 w97 9d 78 82
(1) SHad 1902 § S Trel-STaHT S9eia 3 i W STaH i 9vE i ®1 1e9m
gl

(2)  Tore=1 =1 SIT9TA o =N WHE, FERA H ©F & fawan whl b S "y 999 e |

(3) et fage % o, T W &G % Hesll, WU §R Heifed @dl % ®9 § 3@ 74|

(4) ST9ME A T4 = fawg M 8 & o, &9 o Hiteg 29l - e agr s, § S
Herdl U i o |

Options:-

.1, Option ID :- 1345,
« 2, Option ID :- 1346,
. 3, Option ID :- 1347,

. 4, Option ID :- 1348,
Answer Given:- 2, Option ID : -1346

Question ID:- 338

During the Meiji Period, Japan won significant wars against two Countries/Companies :
(1) America and China

(2) Korea and America
(3) China and Russia
(4) English East India Company and French East India Company

TSt el H S A fe €t <l /st o favg 35 o foom wma &) o 2

(1) TRt e ==

(2) eRIfE G SR

(3) =HHaW 'F

(4) sfemw = 3fem suet aun e d gfea Ft
Options:-

.1, Option ID :- 1349,
« 2, Option ID :- 1350,
. 3, Option ID :- 1351,
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« 4, Option ID :- 1352,
Answer Given:- 3, Option ID : -1351

Question ID:- 339

Which one of the following statements regarding Renaissance is NOT correct ?

(1) Renaissance has been seen as the line dividing modern Europe from Medieval Europe
The scholars of the Renaissance were very critical of the earlier scholasticism

(2)
(3) The Renaissance intellectuals made sustained attack on Humanism
(4)

4 Karl Marx and Engels saw the Renaissance movement as a relation between cultural

production (Arts) and material production (the economy)

Frfafead § § #F 91 w9 JAenR Fd & foura § 98 1@ g ?

(1) TSI ShTel Sl STEfTeR AT G Heqehtar g = faifsd st areft T & &9 § 3@
T E

(2) YASITRY T o fagH "2 el g9 (Scholasticism) & STE®H A 2|

(3) YSIRY A & AifGH ARl + AR 9 STEHA SHaH & |

(4) ohTel HIEH qU1 T H YASII Shi GehAT 1 Hithideh 3cd6A (hell) a1 i 37UreA
(erefereren) & HeA ¥ Hed qHE |

Options:-

.1, Option ID :- 1353,
. 2, Option ID :- 1354,
. 3, Option ID :- 1355,

. 4, Option ID :- 1356,
Answer Given:- 3, Option ID : -1355

Question ID:- 340

Match List-I with List-II and select the correct answer from the code given below :

List-I List-11
(Sculptor) (The Work)
(a) Michaelangelo (i) “Assumption of the Virgin’
(b) Raphael Sanzio (i) ‘The Last Supper’
(c) Leonarde da Vinci (iii) ‘Sistine Madonna’
(d) Titian (iv) Fresco Paintings in St. Peter’s Church
Code :
(@ () (9 (@
1) @) @Gv) @ (D)
(2) G) @@ (@) (@
3 O (v) @) (i)
(4) Gv) @D @@ @
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T -1
( oreumr)
(a) TIEHACSTE!
(b) TFrUE HfsE
(c) wHEFTE! = fa=
(d) TfeforEm

(@ ) () ()

() @@ @) @ @)
(2) @) (@) (@) ()
(3) @ Gv) (D) ()
(4) (v) (@) (@) (@
Options:-

.1, Option ID :- 1357,
« 2, Option ID :- 1358,
. 3, Option ID :- 1359,

« 4, Option ID :- 1360,
Answer Given:- 4, Option ID : -1360

eI - 15 eIt - 11 919 Toer #ifse ) = feu 7 e § @ wé S 1 9 S

gt - 11

(&fd)
TS oI1% T IR (Assumption of the Virgin)
‘T A R’ (The Last Supper)
‘faet wEm’

Question ID:- 341

(R).

(2

(4

Given below are two statements, one labelled as Assertion (R) and other labelled as Reason

Assertion (A) : Social inequality had begun in the chalcolithic period.
Reason (R) : It is demonstrated in the cultural practices of the people.

In the context of the above two statements, which of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.

= 21 =R feu TR | U R AT (A) S GE I HET (R) FEl T
HUT (A) : THYTETY et § AR STEEHr IR 2 geht ot |
HRUT(R) : I ARl 1 gipfas gl § fear <ar g1

IR < el & ey ¥ frefafeg § 4 #9 wm ad 22

(1) (A) 3T (R) SHT =& € i (R), (A) = Fet =20 €

) (A) #R(R) EF1 E@ ¥, TR (R), (A) Tt W& = 71§

(3) (A) W& %, foFg (R) 7o 2

) (A) T 7, TR (R) WET B
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Options:-

.1, Option ID :- 1361,
« 2, Option ID :- 1362,
. 3, Option ID :- 1363,

« 4, Option ID :- 1364,
Answer Given:- 3, Option ID : -1363

Question ID:- 342

Which of the following was the principal city of Assaka Mahajanapada ?
(1) Bairat

(2) Dantapura
(3) Mahismati
(4) Potana

Frfafad § | S 784 HerSIe 1 I TR 977

(1) =R

(2) =g

(3) wrfesdt

(4) O
Options:-

.1, Option ID :- 1365,
« 2, Option ID :- 1366,
. 3, Option ID :- 1367,

« 4, Option ID :- 1368,
Answer Given:- 4, Option ID : -1368

Question ID:- 343

Arrange the following eras in the chronological order with reference to their beginning ?
(i) Saka Era

(i) Vallabhi Era

(ifi) Kalachuri Era

(iv) Malava Era

Choose the correct answer from the code given below :

(1) @), (), (@), (i)

(2) () (i), (i), (i)
(3) (@), (i), (i), (iv)
(4)  (iv), (i), (i), (i)
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frfafad dadl 1 s Ry-fafy & sHEr Femsy § srafee wif)
(i) ¥ H

(i) Sl Haq

(i) SR Heq

(iv) HIeTS Heq

= fe2 T3 e i T H WE W F1 T Hifo |

(D (@v), @, @), (i)

(2) (@), (i), (iv), (i)

(3) (@), (i), (i), (iv)

(4) (), (i), (i), (i)
Options:-

.1, Option ID :- 1369,
« 2, Option ID :- 1370,
. 3, Option ID :- 1371,

« 4, Option ID :- 1372,
Answer Given:- 3, Option ID : -1371

Question ID:- 344

Which of the following Gupta rulers had issued Asvamedha type coins ?
(i) Chandragupta - 1

(i) Samudragupta

(i) Chandragupta - II

(iv) Kumaragupta - I

Select the correct answer from the code given below :

(1) (i) and (ii) only

(2) (i) and (iii) only
(3) (i) and (iv) only
(4) (i) and (iv) only

Tefafad o | ford 7w 9l 5 SaHY YehR o Tadeh ST ford 9 2
() ==I9-1

(i) HHTE

(iif) =W - 11

(iv) FHHRIH - I

e fed T4 e i TR H W& I H =AA HifIg |

(1) e (i) R (i)

(2) O (i) 3R (i)
(3) I (iii) SN (iv)
(4) FaA (ii) AR (iv)
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Options:-

.1, Option ID :- 1373,
« 2, Option ID :- 1374,
. 3, Option ID :- 1375,

« 4, Option ID :- 1376,
Answer Given:- 2, Option ID : -1374

Question ID:- 345

Peloponnesian war was fought between :
(1) Athens and Rome

(2) Athens and Sparta
(3) Sparta and Rome
(4) Corinth and Rome

TAHITA-G S @S T o1 2
(1) g I F 7
(2) uew A el % e
(3) TRl SR IA F 7EA
(4) HIRY FRIT % 7
Options:-

.1, Option ID :- 1377,

« 2, Option ID :- 1378,

. 3, Option ID :- 1379,

« 4, Option ID :- 1380,
Answer Given:- 3, Option ID : -1379

Question ID:- 346

By which of the following years the long and arduous conquest of penninsular Italy by
the Romans was complete ?

(1) 271 BCE
(2) 266 BCE
(3) 261 BCE
(4) 258 BCE

i few e 99l § 9 forg 9y 9 U9 SR WIS 2ol i el SR 3R Siid G &1 geht ot ?
(1) 271 sELE

(2) 266 SHLE.

(3) 261 sHE.

(4) 258 S.ELE,
Options:-

.1, Option ID :- 1381,
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« 2, Option ID :- 1382,
. 3, Option ID :- 1383,

. 4, Option ID :- 1384,
Answer Given:- 3, Option ID : -1383

Question ID:- 347

Identify among the following authors a female writer :

(1) Appar

(2) Sambandar
(3) Andal

(4) Sundaram

=1 erEeRl § afgcl TR i UgdH hifend |

(1) s
(2) H=<R
(3) ST<w
(4) =W
Options:-

.1, Option ID :- 1385,
« 2, Option ID :- 1386,
. 3, Option ID :- 1387,

. 4, Option ID :- 1388,
Answer Given:- 3, Option ID : -1387

Question ID:- 348

Match List - I with List - IT and select the correct answer from the code given below the

List - 1 List - II

(Writer) (Persian Texts)
(a) Minhaj-us Siraj (i)  Fatawa-1 Jahandari
(b) Ziauddin Barani (i) Tarikh-i Mubarak Shahi
(c) Isami (iii) Tabagat-i Nasiri
(d) Yahya bin Ahmad Sirhindi (iv) Futuli-us Salatin
Code :

@ b)) (o (d)
(D) @) @) @ 6
(2 @) @ Gv) ()
3 @) @ @) ()
4) @) @ (@v) (@)
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et - 16 =it - 119 gaferd Sifsie i giedi & == fTu 0 fe ¥ Hel 39 &l 997 Hifa)

gt -1 T - 11

(@& ) (wRE T9)
(a) Tore-sg faus () AT JEler!
(by fommEm s (i) @IE-T GG AlE1
(c) =HmH (i) THHE-T T
(d) =mwn fom sreve wfesd (iv) Fge-39 qerrdid
he :

(@ ) (o (@

(1) (v) @) @ @
(2) @ @ (v) (D)
G) ) O @ @)
(4) (@) @ (@v) (i)
Options:-

.1, Option ID :- 1389,
« 2, Option ID :- 1390,
. 3, Option ID :- 1391,

« 4, Option ID :- 1392,
Answer Given:- 4, Option ID : -1392

Question ID:- 349

Which of the following lands under Akbar were assessed at full rates ?

0
(i
(i)
(i)

()
(2)

Select the correct answer from the code given below :

Polaj
Parauti
Chachar
Banjar

i) and (ii)
11) and (111)
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SToha o YA H A 9 Y-&31 o Sfiher guf U 9 feran S o ?

(i) TS
(i) oK
(i) H=HER
(iv) ESH
=1 fau U e F ° W I 1 FIA HifS0)
(1) (i) =T (i)
(2) (i) 3T (i)
(3) (i) I (iv)
(4) (i) 3T (i)
Options:-

.1, Option ID :- 1393,
« 2, Option ID :- 1394,
« 3, Option ID :- 1395,

« 4, Option ID :- 1396,
Answer Given:- 4, Option ID : -1396

Question ID:- 350

During his Balkh and Badakhshan campaigns services of which of the following Sufis
were obtained by Shahjahan ?

(1) Shattari Sufis

(2) Nagshabandi Sufis

(3) Suhrawaradi Sufis

(4) Qadiri Sufis

(1) ¥R R
(2) R G
(3) HeEE g
(4) I g
Options:-

.1, Option ID :- 1397,
« 2, Option ID :- 1398,
. 3, Option ID :- 1399,

. 4, Option ID :- 1400,
Answer Given:- 4, Option ID : -1400

Question ID:- 351
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Consider the following statements :

(i)  One of the most spectacular temples of Vijayanagara was the Hazara Rama temple
(i) Hazara Rama temple was probably meant to be used only by the king and his family
(iif) Sculptured panels on the inner walls of the shrine include scenes from the Ramayana
(iv) The chief characteristic feature of the temple complex is the chariot streets

Choose the correct answer from the code given below :

(1) (), (i) and (i)

(2) (i), (iii) and (iv)

(3) (), (i )and (iv)

(4) (@), (i), (i), (iv)

frefefad sweA W faem #if

(i) Tos=TR % v e S Hiet g U e o)

(i) HYed: BT U4 | o1 WA shael Ui SR 376k 9far g & feran i o
(iii) HfeX 1 SHafe el W Ik Tl | TR § fae T gya sfefed g
(iv) e ofted it ww g fagar 1 fest €1

= fau T he H WE I H =AT HI
(1) (@) (i) 3T (iii)
2 1), (iii) (IV)

2

(3) (i), (iii) TR (iv)
(4) (), (i), (i) 3 (iv)
Options:-

.1, Option ID :- 1401,

« 2, Option ID :- 1402,

. 3, Option ID :- 1403,

. 4, Option ID :- 1404,
Answer Given:- 2, Option ID : -1402

Question ID:- 352

Which of the following earliest Mughal manuscripts was ordered to be painted by
Akbar ?

(1) Hamzanama

(2) Tarikh-i Khandan-i Timuriya
(3) Baburnama
(4) Razmnama

TELEGRAM - @TEACHINGEXAM

@ Teachingninja.in



e H 9 forg wret wrogfaft 1 ereer 7 gaiyery fafm & &1 s fean an?

(1)  BwsIm
(2) AHE-T @HEA-T g
(3) SSATH
(4) TEHATN

Options:-

.1, Option ID :- 1405,
« 2, Option ID :- 1406,
. 3, Option ID :- 1407,

« 4, Option ID :- 1408,
Answer Given:- 1, Option ID : -1405

Question ID:- 353

The Mongol tribe was formed after the unification of Turkic and Mongol tribes under
Chenghiz Khan in which of the following years ?

(1) 1201
(2) 1203
(3) 1205
(4) 1206

Trefafaa § 9 fry a9 | 9is @1F & A | gl S Je SISiaal ol Thishol el Hie
el 21 Ao gei ?

(1) 1201
(2) 1203
(3) 1205
(4) 1206

Options:-

.1, Option ID :- 1409,
. 2, Option ID :- 1410,
. 3, Option ID :- 1411,

. 4, Option ID :- 1412,
Answer Given:- 2, Option ID : -1410

Question ID:- 354

During the rising tide of nationalists and anti-British sentiments, the government followed
the policy of ‘carrot and stick’, if Mantague-Chelmsford reforms were example of carrot,
what is symbol of stick from the following ?

(1) The Rowlatt Act

2) The increase in the number of members in the upper house

(2)
(3) Transfer of certain Departments to Indian Ministers
(4)

4) Increase in the number of members in provincial councils
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e UF Torfew foriet wiammsii o o) & 9gd Gt A ' ohifte ud fezed’ &l Aifd 9=t | JHie-
JwE GuR Afe Hie o s & df Fefafag § 8 #5 w fos %1 uds €2

(1) etz TR

(2) 3= Hed H HeHl & e H SRl
(3) D TaNFN o1 YR = I s&diaiu
(4) WidF HISFA | FeEl HI S
Options:-

.1, Option ID :- 1413,
« 2, Option ID :- 1414,
. 3, Option ID :- 1415,

. 4, Option ID :- 1416,
Answer Given:- 1, Option ID : -1413

Question ID:- 355

Which one of the following was not a cause for the revolt of 1857 ?

(1) The burden of excessive taxes made the peasantry indebted and impoverished
2

(2)
(3) The Christian missionaries encouraged the rebels to revolt
(4)

The traditional landed aristocracy lost their powers.and privileges

Lord Dalhousie’s Doctrine of Lapse

Frafafad § 9 S 91 1857 &1 shifd &1 R @l o1 2
(1) srcafaes 0 & YR A Fue% FHSE &l BIRRE o1 FEa =@ fen o)

(2) 9T J-Hufd g 3= a1 |9 S0 vfe v foemy sifesr |l feu)
(3) 3EE uH YR A fasifedl i shifd & fere semsmn
(4) TE ARSI F BSY A

Options:-

.1, Option ID :- 1417,
« 2, Option ID :- 1418,
. 3, Option ID :- 1419,

. 4, Option ID :- 1420,
Answer Given:- 2, Option ID : -1418

Question ID:- 356

Which Sikh patriot was tried and executed by the British Government for the murder of
Sir Machael O" Dwyer ?

(1) Harbans Singh Attariawala
(2) Baba Santa Singh

(3) Sardar Udham Singh

(4) Majit Singh Kashid
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T OEHa A1’ P i e & faw A 4 faw reve W fafew gad 3 gee 9o+ widl
2 d?
(1) ==Eg fEg safEmEmen

(2) e He fHE

(3) HER FuH fog

(4) wSia THE wifvE
Options:-

.1, Option ID :- 1421,
« 2, Option ID :- 1422,
. 3, Option ID :- 1423,

. 4, Option ID :- 1424,
Answer Given:- 3, Option ID : -1423

Question ID:- 357

Who was the first elected President of the All India Depressed Classes Association formed
in 1926 ?

(1)  Dr. B.R. Ambedkar

(2) Rao Bahaddur M.C. Rajah
(3) Bhaskarrao Jadhav

(4) Jagjivan Ram

1926 F Tifed sifEaa wRe e a7 dee & Yoo Faffad s 9 92

(1) = 9.3, AesHt
(2) TS SRIgR UH.HI. =T
(3) RERTE STHd
(4) SETSTEE T

Options:-

.1, Option ID :- 1425,
« 2, Option ID :- 1426,
. 3, Option ID :- 1427,

. 4, Option ID :- 1428,
Answer Given:- 4, Option ID : -1428

Question ID:- 358

After the Russo-Japanese war ended in September 1905, where was the treaty between
Russia and Japan signed ?

(1) Tokyo

(2) Leningrad
(3) Herbin

(4) Portsmouth
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faarat 1905 H EH-TUF 4§ 1 HAIME & a1e, Fel &4 R SIH & 7e7 6y 9 g6hen gu?
(1
2

)

) 2R
(2) wfFaR
(3) e
(4) EEERY

=

Options:-

.1, Option ID :- 1429,
« 2, Option ID :- 1430,
. 3, Option ID :- 1431,

. 4, Option ID :- 1432,
Answer Given:- 4, Option ID : -1432

Question ID:- 359

From among the following statements, which one is NOT an effect of Industrial
Revolution ?

(1)  Scarcity of consumer goods
(2

(
(4

Factories provided employment for rural people

]

)
) Rise of capitalist and entrepreneur class
) Exploitation of industrial labour

Frefafaa 5 § 0 @ eieifie wifd w1 g T8 2 2
(1)  Susjreral Sl T e

(2) reRfEl 3 T S sl AsFR e fag
(3) Usframel qen e o @ $ed

(4)  oreifirw TeIGX o @ viEYy

Options:-

.1, Option ID :- 1433,
« 2, Option ID :- 1434,
. 3, Option ID :- 1435,

. 4, Option ID :- 1436,
Answer Given:- 1, Option ID : -1433

Question ID:- 360

Which one of the following statements regarding renaissance is not correct ?
(1) The renaissance was the product of a rural environment
(2) Economic growth laid the foundation of the Italian Renaissance

(3) The presence of wealth in the Italian towns was another important factor in the
emergence of the Renaissance

(4) Aristocratic patronage played a part in the origins and maturing of the Renaissance
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SIS  faua § frefafes 8 9 #it o1 wem g w8 82
(1)  GASIT Shied ek THIUT STATeRY] ohi Sedfd o |

(2) onfe foepm 9 sl & QTSRO e i Ala @l |

(3) 3 o wedl H Iufeerd g-weael Hi YIS el 2 SfaviE 1 Th HewyYl SR ol
(4) efsTa-a gR1 YeT W i YIS e % I¢TH qun giigee § wecyyl yfter ot
Options:-

.1, Option ID :- 1437,
« 2, Option ID :- 1438,
. 3, Option ID :- 1439,

« 4, Option ID :- 1440,
Answer Given:- 4, Option ID : -1440
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